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Topic:­ General Science
1)

Question Stimulus :­

In a typical cell, the organelle Golgi bodies are found in the________ / एक ᨅॊ䐈ोपक
कख़ोषकॊ म雀�, अॠगक गॗ㐊ॎ कॊय पॊए जॊतॕ ऻॖ ॠ                        __________ म雀�।

Nucleus / ഈॐ瘂댊अऺ

Cytoplasm / कख़ोषकॊህ䰈

Centrosome / तॊरककॊय

Mitochondria / मॊइटख़कॗ瘂� ड휀� यॊ

Correct Answer :­Cytoplasm / कख़ोषकॊህ䰈 

2)

Question Stimulus :­

The process in which heat is transferred from the hotter end of an iron rod  to the colder end  is called  / शऻ ᨅो㼇यॊ,
ोजऺम雀� लख़ऻॕ कॎ रॗड कॕ गरम ोऺरॕ ऺॕ ठॠ डॕ ोऺरॕ पर ऊꄈॊ अॠतरण ऻख़तॊ ऻॖ ­  

Convection /  ॠऺशऻन

Radiation / ोशोकरण

Conduction / चॊलन

Evaporation / शॊॎकरण  

Correct Answer :­Conduction / चॊलन 

3)

Question Stimulus :­

Modern tools attached to tractors to save labour & time are called / ट휀� ॖ鐄 टरख़ ॠ ऺॕ  ॠऺल괂 न आधॏोनक यॠ� जख़ ៦�म और ऺमय
बचॊतॕ ऻ�‚ कऻलॊतॕ ऻ�  

Hoe / कॏ दॊल

Plough / ऻल

Harrow / ऻॖरख़

Cultivator / क瘂Ⰹशॕटर



Correct Answer :­Cultivator / क瘂Ⰹशॕटर 

4)

Question Stimulus :­

Organisms such as Fungi & Bacteria are used to destroy weeds. Such biological
agents are called / कशक और बॖ렉ॎ瘂रयॊ जॖऺॕ जॎशख़ ॠ कॊ ᨅयख़ग खरपतशॊरख़ ॠ कख़ नစ करनॕ कॕ ोलयॕ ोकयॊ जॊतॊ ऻॖ।
ऐऺॕ जॖोशक घटक कऻलॊतॕ ऻ� ­

Fungicides / कशकनॊषॎ

Bio weedicides / बॊयख़ शॎोडऺॊइड्ऺ

Herbicides / षॊकनॊषॎ

Insecticides / कॎटनॊषॎ

Correct Answer :­Bio weedicides / बॊयख़ शॎोडऺॊइड्ऺ 

5)

Question Stimulus :­

Loudness of sound does not depend on the / ퟚ�ोन कॎ ᨅबलतॊ________ पर ोनभ�र नऻॎ ॠ करतॎ

Amplitude of vibration / कॠ पन कॊ आयॊम

Frequency of vibration / कॠ पनॊश॑ो

Area of the vibrating body / श⌉ॏ कॊ कॠ पन करतॊ ᄅआ 埠ॕ��

Distance of the listener from the source of sound / ퟚ�ोन कॕ 섆ख़त ऺॕ ៦�ख़तॊ कॎ दॐ रॎ

Correct Answer :­Frequency of vibration / कॠ पनॊश॑ो 

6)

Question Stimulus :­

Species that no longer exist anywhere on the earth are called / ᨅजॊोतयॊॠ जख़ अब प॑ퟛ�ॎ पर कऻॎ ॠ भॎ मग़जॐद नऻॎ ॠ ऻ�, उनकख़
कऻॊ जॊतॊ ऻॖ 

Endangered species / लॏ⤈ᨅॊय ᨅजॊोतयॊॠ

Endemic species / थॊोनक ᨅजॊोतयॊॠ

Vulnerable species /  ॠऺशॕदनषॎल ᨅजॊोतयॊॠ

Extinct species / ोशलॏ⤈ ᨅजॊोतयॊॠ

Correct Answer :­Extinct species / ोशलॏ⤈ ᨅजॊोतयॊॠ 

7)

Question Stimulus :­



To put out fires caused by burning solid fuels like wood, paper, the most common
fire extinguisher used is / लकीॎ‚ कॊगज जॖऺॕ ठख़ऺ ईधनख़ ॠ कॕ दऻन ऺॕ उ戂 प� न आग कख़ बॏझॊनॕ कॕ ोलयॕ
इ तॕमॊल ोकयॕ जॊनॕ शॊलॊ ऺबऺॕ ऺॊमॊ� य अो瀅षॊमक ऻॖ

Water fire extinguisher / जल अो瀅षॊमक

Dry powder fire extinguisher /  ॐऺखॊ पॊउडर अो瀅षॊमक

Foam fire extinguisher / फख़म अो瀅षॊमक

Carbon dioxide fire extinguisher / कॊब�न डॊइऑ鐄 ऺ ॊइड अो瀅षॊमक

Correct Answer :­Water fire extinguisher / जल अो瀅षॊमक 

8)

Question Stimulus :­

Images that can be obtained on a screen are referred to as / शॕ ᨅोतोबॠब ोज� ऻ雀� परदॕ पर ᨅॊ त ोकयॊ जॊ ऺकतॊ ऻॖ‚ उ� ऻ雀�
इन 雀ऺ� ऺ㸃 बख़ोधत ोकयॊ जॊतॊ ऻॖ 

Real images / शॊ तोशक ᨅोतोबॠब

Virtual images / आभॊऺॎ ᨅोतोबॠब

Inverted images /  उⰉॕ ᨅोतोबॠब

Reflected images / परॊशोत�त ᨅोतोबॠब

Correct Answer :­Real images / शॊ तोशक ᨅोतोबॠब 

9)

Question Stimulus :­

In copper sulphate solution, the carriers of electricity are / कॗपर ऺ吋ॕट कॕ ोशलयन म雀�, ोबजलॎ कॕ
शॊऻक ऻ�

Protons / ᨅख़टॗन

Electrons / इलॕ렉휀� ॗन

Neutrons / ഈॐट휀� ॗन

Ions / आयन

Correct Answer :­Ions / आयन 

10)

Question Stimulus :­

A spoon placed in a glass of water appears to be bent at the surface of water due to /
पॊनॎ कॕ ोगलॊऺ म雀� रखॊ गयॊ एक च紈च पॊनॎ कॕ प॑စ पर मॏीॊ ᄅआ ोदखॊई दॕतॊ ऻॖ। इऺकॊ कॊरण ऻॖ ­

Reflection of light / ᨅकॊष कॊ परॊशत�न

Refraction of light / ᨅकॊष कॊ अपशत�न



Dispersion of light / ᨅकॊष कॊ प瘂र埠ॕ�पण

Internal reflection / आॠत瘂रक परॊशत�न

Correct Answer :­Refraction of light / ᨅकॊष कॊ अपशत�न 

11)

Question Stimulus :­

Identify the organism that does not have a circulatory system / उऺ जॎश कख़ पऻचॊन雀� ोजऺम雀� प瘂र ॠऺचॊरॎ तॠ� नऻॎ ॠ ऻख़तॊ। 

Dog / कॏ ॊ

Frog / मॕुक

Human / मनॏᰈ

Hydra / ऻॊइड휀� ॊ

Correct Answer :­Hydra / ऻॊइड휀� ॊ 

12)

Question Stimulus :­

SMOG is a combination of  / धॐमकॏ ऻरॊ,   ॠऺयख़जन ऻॖ

Smoke & fog / धॏॠए और कख़ऻरॕ कॊ

Sulphur dioxide & Nitric oxide / ऺ吋र डॊइऑ鈊ॊइड और नॊइोट휀� क ऑ鈊ॊइड कॊ

Hydrogen Sulphide & Aerosol / ऻॊइड휀� ख़जन ऺ吋ॊइड और एयरख़ऺख़ल कॊ

Carbon di­oxide & water vapour /  कॊब�न डॊइऑ鈊ॊइड और जल शॊ कॊ

Correct Answer :­Smoke & fog / धॏॠए और कख़ऻरॕ कॊ 

13)

Question Stimulus :­

Nodules with Nitrogen fixing Bacteria are found in the roots of / 瀅ॠोथकॊ कॕ ऺॊथ नॊइट휀� ख़जन यग़ोगकॎकरण जॎशॊणॏ
______ कॎ जीख़ ॠ म雀� पॊए जॊतॕ ऻ�।  

Wheat / गॕᄅँ

Maize / म팋ॊ

Paddy / धॊन

Peas / मटर

Correct Answer :­Peas / मटर 

14)

Question Stimulus :­



Food items such as cereals & pulses are generally preserved by drying  under the Sun and this method is known as /
खॊ嬆 श⌉ॏओॠ जॖऺॕ अनॊज और दॊलख़ ॠ कख़ ऺॊमॊഈतॡ  ॐऺय� कॕ ᨅकॊष म雀�  ॏऺखॊकर  ॠऺरो埠�त ोकयॊ जॊतॊ ऻॖ। इऺ ोशोध कख़ कऻतॕ ऻ�
­  

Pasteurization / पॊ⌉ॕरॎकरण

Refrigeration / ᨅषॎतन

Dehydration / ोनज�लॎकरण

Boiling / 㼇थन

Correct Answer :­Dehydration / ोनज�लॎकरण 

15)

Question Stimulus :­

In which one of the following is friction disadvantageous? / ोन꤅ म雀� ऺॕ ोकऺ म雀�, घह�ण ऻॊोनकर ऻॖ। 

Moving parts of a machine / मषॎन कॕ चलतॕ ᄅए ोऻ∊ख़ॠ म雀�

Walking on the road / ऺीक पर चलनॊ

Applying brakes to stop the vehicle / शॊऻन कख़ रख़कनॕ कॕ ोलए 䐅ॕक लगॊनॊ 

Writing on a paper with a pen / कॊगि पर कलम ህॊरॊ ोलखनॊ

Correct Answer :­Moving parts of a machine / मषॎन कॕ चलतॕ ᄅए ोऻ∊ख़ॠ म雀� 

16)

Question Stimulus :­

The products formed when metal Zinc reacts with diluted Hydrochloric acid  are / तनॐक॑त ऻॊइड휀� ख़댊ख़瘂रक अ㸃 ल कॕ
ऺॊथ जब ोजॠक धॊतॏ अोभो㼇यॊ करतॊ ऻॖ तख़ ोन㸃 न उ꤇ॊदख़ ॠ कॊ गठन ऻख़तॊ ऻॖ ­

Zinc Hydride & Water / ोिॠक ऻॊइड휀� ॊइड और जल

Zinc Oxide & Hydrogen Gas / ोिॠक ऑ鐄 ऺ ॊइड और ऻॊइड휀� ख़जन गॖऺ

Zinc Chloride & Hydrogen Gas / ोिॠक 댊ख़रॊइड और ऻॊइड휀� ख़जन गॖऺ

Zinc Chloride & Water / ोिॠक 댊ख़रॊइड और जल 

Correct Answer :­Zinc Chloride & Hydrogen Gas / ोिॠक 댊ख़रॊइड और ऻॊइड휀� ख़जन गॖऺ 

17)

Question Stimulus :­

Pick the INCORRECT statement / गलत कथन चॏोनए  

Buildings in earthquake prone areas should have   / भॐॠकप कॕ आषॠकॊ शॊलॕ 埠ॕ��ख़ ॠ कॎ इमॊरतख़ ॠ म雀� ­            

Lightweight materials used in  construction / ोनमॊ�ण म雀� ऻئى कॎ ऺॊम瀅ॎ ᨅयख़ग कॎ जॊनॎ चॊोऻए

Heavy materials used in construction / ोनमॊ�ण म雀� भॊरॎ ऺॊम瀅ॎ ᨅयख़ग कॎ जॊनॎ चॊोऻए



Design suitable  to withstand tremors / झटकॕ झॕलनॕ कॕ ोलए उपयॏ鐄 त ोडजॊइन

Firefighting equipment made readily available / अो瀅षमन उपकरण आऺॊनॎ ऺॕ उपलЃ ध
करॊनॕ चॊोऻए

Correct Answer :­Heavy materials used in construction / ोनमॊ�ण म雀� भॊरॎ ऺॊम瀅ॎ ᨅयख़ग कॎ जॊनॎ
चॊोऻए 

18)

Question Stimulus :­

The pressure exerted by liquid _____. / ህश ህॊरॊ लगॊयॊ गयॊ दबॊश______

Increases with depth / गऻरॊई कॕ ऺॊथ बु जॊतॊ ऻॖ

Decreases with depth / गऻरॊई कॕ ऺॊथ घट जॊतॊ ऻॖ

Does not change with depth / गऻरॊई कॕ ऺॊथ नऻॎ ॠ बदलतॊ ऻॖ

Is different in different directions at the same depth / ऺमॊन गऻरॊई पर, अलग – अलग ोदषॊओॠ
म雀� अलग­ अलग रऻतॊ ऻॖ  

Correct Answer :­Increases with depth / गऻरॊई कॕ ऺॊथ बु जॊतॊ ऻॖ 

19)

Question Stimulus :­

Steel does not rust easily and is an alloy of / इ पॊत म雀� आऺॊनॎ ऺॕ जॠग नऻॎ ॠ लगतॊ और शऻ इऺकॊ ोम៦�ॊतॏ ऻॖ

Copper / तॊ봅

Mercury / पॊरद

Iron / लग़ऻ

Aluminium / ऐलॐोमोनयम 

Correct Answer :­Iron / लग़ऻ 

20)

Question Stimulus :­

Which one of the following minimizes Friction? / ोन꤅ म雀� ऺॕ कग़न, घह�ण ഈॐनतम करतॊ ऻॖ 

Use of wheels between surfaces / प॑  ठ कॕ बॎच पोऻयख़ ॠ कॊ उपयख़ग

Grooves in tyres / टॊयर म雀� खॊॠचॕ

Spikes in the soles of the shoes / जॐतॕ कॕ तलशॕ म雀� कॎल雀�

Gravel spread on slippery road / ऺप�णषॎल ऺीक पर बजरॎ कॊ ᨅऺॊर

Correct Answer :­Use of wheels between surfaces / प॑  ठ कॕ बॎच पोऻयख़ ॠ कॊ उपयख़ग 

21)



Question Stimulus :­

Which one of the following organisms would have maximum amount of pesticides if
a lake is found to be contaminated? / ोन꤅ोल瘂खत जॎशख़ ॠ म雀� ऺॕ ोकऺम雀�, कॎटनॊषकख़ॠ कॎ अोधकतम रॊोष
ऻख़गॎ योद एक झॎल  ॠऺदॐ ोहत ऻॖ ?

Big fish / बीॎ मछोलयख़ ॠ म雀�

Small fish / छख़टॎ मछोलयख़ ॠ म雀�

Birds / पो埠�यख़ ॠ म雀�

Zooplanktons / ᨅॊोणम�절शकख़ॠ म雀�

Correct Answer :­Birds / पो埠�यख़ ॠ म雀� 

22)

Question Stimulus :­

The type of image formed on the Retina by the eye lens is / नॕ� ल雀�ऺ ህॊरॊ रॕोटनॊ पर ोकऺ तरऻ
कॎ ᨅोतोबॠब कॊ ोनमॊ�ण ऻख़गॊ?

Erect & same size as the object / ऺॎधॎ और श⌉ॏ कॕ आकॊर कॕ बरॊबर

Inverted & diminished /  अधख़षॎह戂 और 㼅ॊोऺत

Erect & diminished /  ऺॎधॎ और 㼅ॊोऺत

Inverted & magnified / अधख़षॎह戂  और आशोध�त

Correct Answer :­Inverted & diminished /  अधख़षॎह戂 और 㼅ॊोऺत 

23)

Question Stimulus :­

The  smallest part of the moon that becomes visible to us is called / च� ህमॊ कॊ ऺबऺॕ छख़टॊ भॊग जख़ ऻम雀� ोदखॊई दॕतॊ ऻॕ
उऺॕ कऻॊ जॊतॊ ऻॖ          

Full moon / पॐण�चॠህ 

New moon / नशचॠህ 

CresĐeŶt ŵooŶ / बॊलचॠህ

Half moon / अध�चॠህ 

Correct Answer :­CresĐeŶt ŵooŶ / बॊलचॠህ 

24)

Question Stimulus :­

How many minutes make 6 hours / ोकतनॕ ोमनट ोमलकर, 6 घॠटॕ बनॊतॕ ऻ� :

120



180

360

3600

Correct Answer :­360 

25)

Question Stimulus :­

Antibiotics are not effective against cold & flu as these are caused by / जॏकॊम और ᄋॐ म雀�
एॠ टॎबॊयख़ोटक ᨅभॊोशत नऻॎ ॠ ऻख़तॕ 鐄 यख़ ॠोक इनकॕ ऻख़नॕ कॊ कॊरण ऻॖ ­

Bacteria / बॖ鐄 टॎ瘂रयॊ

Fungi / कशक 

Viruses / शॊयरऺ

Protozoa / ᨅख़टख़जख़आ

Correct Answer :­Viruses / शॊयरऺ 

Topic:­ General Hindi
1)

Question Stimulus :­

‘तदॏपरॊĈ’ म雀� उपऺग� ऻॖ­

तद्

तदॏप

तद

तत्

Correct Answer :­तत् 

2)

Question Stimulus :­

‘दॎन दॏोनयॊ कॊ न रऻनॊ’ मॏऻॊशरॕ कॊ अथ� ऻॖ­

मतलबॎ ऻख़नॊ

ऺबऺॕ अलग ऻख़ जॊनॊ

ऺഈॊऺॎ ऻख़ जॊनॊ

ऺब तरऻ ऺॕ पोतत ऻख़नॊ

Correct Answer :­ऺब तरऻ ऺॕ पोतत ऻख़नॊ 

3)



Question Stimulus :­

‘ोजऺकॕ ऺमॊन कख़ई दॐ ऺरॊ न ऻख़’ कॕ ोलए उपयॏ촉 एक ष༈ ऻॖ

अोህतॎय

अऺॊퟔ� य

अഈतम

अप瘂रमॕय

Correct Answer :­अोህतॎय 

4)

Question Stimulus :­

‘ᨅॕरणॊथ�क’ कॎ 뤄ोစ ऺॕ षॏ蔇 शॊ鐄 य ऻॖ

मकॊन मॊोलक नॕ पॏोलऺ ऺॕ ोकरॊएदॊर कख़ बॊऻर ोनकॊल ोदयॊ।

पॏोलऺ ህॊरॊ मकॊन मॊोलक नॕ ोकरॊएदॊर कख़ बॊऻर ोनकॊल ोदयॊ।

मकॊन मॊोलक नॕ पॏोलऺ ህॊरॊ ोकरॊएदॊर कख़ बॊऻर ोनकॊल ोदयॊ।

पॏोलऺ ऺॕ ोकरॊएदॊर कख़ बॊऻर ोनकॊल ोदयॊ मकॊन मॊोलक नॕ ।

Correct Answer :­पॏोलऺ ህॊरॊ मकॊन मॊोलक नॕ ोकरॊएदॊर कख़ बॊऻर ोनकॊल ोदयॊ। 

5)

Question Stimulus :­

ोन꤅ म雀� त꤇ॏ젅ह ऺमॊऺ पऻचॊोनए

रॊजमऻल

नॎलकमल

भॐखॊ ᰈॊऺॊ

चग़रॊऻॊ

Correct Answer :­रॊजमऻल 

6)

Question Stimulus :­

ोन㸃 न म雀� ऺॕ ‘यॏ蔇भॐोम’ कॊ ऺॊमॊोऺक ोश瀅ऻ चॏोनए

यॏ蔇 कॎ भॐोम

यॏ蔇 कॕ ोलए भॐोम

यॏ蔇 कख़ भॐोम



उपयॏ�촉 कख़ई नऻॎ ॠ

Correct Answer :­यॏ蔇 कॕ ोलए भॐोम 

7)

Question Stimulus :­

कॊरक कॕ ोकतनॕ भॕद ऻॖ?ँ

छ:

आठ

ऺॊत

नग़

Correct Answer :­आठ 

8)

Question Stimulus :­

“रॊतख़ ॠ­रॊत पॕीख़ ॠ कॎ कटॊई ऻख़ गई’ रॕखॊॠोकत ष༈ मॕ कग़न ऺॊ ऺमॊऺ ऻॖ

अ䰈यॎ भॊश ऺमॊऺ

त꤇ॏ젅ह ऺमॊऺ

बᄅ䐅ॎोऻ ऺमॊऺ

कम�धॊरय ऺमॊऺ

Correct Answer :­अ䰈यॎ भॊश ऺमॊऺ 

9)

Question Stimulus :­

‘ऺरउॊरॊधन’ कॊ  ॠऺ ोध ोश눉ॕद ऻॖ­

ऺरउोत+आरॊधन

ऺरउतॎ+आरॊधन

ऺरउतॎ+अरॊधनॊ

ऺरउोत+अरॊधनॊ

Correct Answer :­ऺरउतॎ+आरॊधन 

10)

Question Stimulus :­

‘ ॏऺबॠत’ कॊ  ॠऺ ोध ोश눉ॕद ऻॖ­



ॏऺब्+अĈ

ॏऺऻ+्अĈ

ॏऺक्_अĈ

ॏऺप्+अĈ

Correct Answer :­ ॏऺप्+अĈ 

11)

Question Stimulus :­

‘पद㼇म’ कॎ 뤄ोစ ऺॕ षॏ蔇 शॊ鐄 य ऻॖ?

म� गम�  यॊलॊ चॊय चॊऻतॊ ᄅँ।

म� गम� चॊय कॊ  यॊलॊ चॊऻतॊ ᄅँ।

म�  यॊलॊ चॊऻतॊ ᄅँ गम� चॊय कॊ ।

म� चॊऻतॊ ᄅँ गम�  यॊलॊ चॊय कॊ ।

Correct Answer :­म� गम� चॊय कॊ  यॊलॊ चॊऻतॊ ᄅँ। 

12)

Question Stimulus :­

ोन㸃 न म雀� ऺॕ ‘जॎशनमॏ鐄 त’ कॊ ऺॊमॊोऺक ोश瀅ऻ चॏोनए

जॎशन म雀� मॏ鐄 त

जॎशन ऺॕ मॏ鐄 त

जॎशन ህॊरॊ मॏ鐄 त

उपयॏ�촉 कख़ई नऻॎ ॠ

Correct Answer :­जॎशन ऺॕ मॏ鐄 त 

13)

Question Stimulus :­

‘डॊकॐ ’ कॊ पयॊ�यशॊचॎ ऻॖ­

ᨅशॠचक

बटमॊर

र촉तॏॠड

ᨅग뼉

Correct Answer :­बटमॊर 



14)

Question Stimulus :­

‘मतॖ܊’ ष༈ कॕ ोलए ऺऻॎ  ॠऺ ोध ोश瀅ऻ चॏन雀�

मत + ए܊

मोत + ए܊

मतॎ + ऐ܊

मत + ऐ܊

Correct Answer :­मत + ऐ܊ 

15)

Question Stimulus :­

‘अपरलख़क’ म雀� उपऺग�­

अप्

अप

अ

अपर

Correct Answer :­अपर 

16)

Question Stimulus :­

‘परऺग�’ कॎ 뤄ोစ ऺॕ षॏ蔇 शॊ鐄 य ऻॖ

इन ोदनख़ ॠ म雀� आप 鐄 यॊ कॊम कर रऻॕ ऻ�।

इन ोदनख़ ॠ आप 鐄 यॊ कॊम कर रऻॕ ऻ�।

आप 鐄 यॊ कॊम कर रऻॕ ऻ� इन ोदनख़ ॠ म雀� ।

इन ोदनख़ ॠ म雀� 鐄 यॊ कॊम कर रऻॕ ऻ� आप।

Correct Answer :­इन ोदनख़ ॠ आप 鐄 यॊ कॊम कर रऻॕ ऻ�। 

17)

Question Stimulus :­

‘आँख ोदखॊनॊ’ मॏऻॊशरॕ कॊ ोन㸃 न म雀� ऺॕ कग़न ऺॊ अथ� ऺऻॎ ऻॖ?

㼇ख़ध करनॊ

धमकॊनॊ



इषॊरॊ करनॊ

चॏप करनॊ

Correct Answer :­धमकॊनॊ 

18)

Question Stimulus :­

योद ोकऺॎ ऺरकॊरॎ ऑोफऺ म雀� प� भॕजॊ जॊ रऻॊ ऻॖ और उऺकॎ कॗपॎ ोकऺॎ अ� य ऑोफऺ म雀� भॕजॎ जॊ रऻॎ ऻॖ तख़ उऺॕ कऻतॕ ऻ�

 मरण प�

अनॏमख़दन प�

ᨅोतोलोप

ᨅोतशॕदन प�

Correct Answer :­ᨅोतोलोप 

19)

Question Stimulus :­

ᨅय ܊ॊ ऻॖ?

मॐल ष༈

ष༈ॊॠष

शॊ܊ॊॠष

कॊ䰈ॊॠष

Correct Answer :­ष༈ॊॠष 

20)

Question Stimulus :­

ोकऺॎ कॊयॊ�लय यॊ ोशभॊग कॊ शऻ अोधकॊरॎ जख़ अपनॕ अधॎन कॊय� करनॕ शॊलॕ कम�चॊ瘂रयख़ ॠ कॎ ोनगरॊनॎ रखॕ, कऻलॊतॊ ऻॖ
_______

अोधश촉ॊ

अधॎ埠�क

अퟧ�埠�

अोभयॏ촉

Correct Answer :­अधॎ埠�क 

21)

Question Stimulus :­



रॊजॎश, म॑णॊल तथॊ प焆 आोद ोन꤅ म雀� ऺॕ ोकऺ कॕ पयॊ�यशॊचॎ ष༈ ऻ� ?

आकॊष

पॊनॎ

कमल

अम॑त

Correct Answer :­कमल 

22)

Question Stimulus :­

‘ ॠऺऺॊर’ ष༈ म雀� ᨅयॏ촉   ॠऺोध कॊ चयन कॎोजयॕ

उर  ॠऺोध

䰈ॠजन  ॠऺोध

ोशऺग�  ॠऺोध

इनम雀� ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­䰈ॠजन  ॠऺोध 

23)

Question Stimulus :­

 यॊपॊर ब�क एशॠ मॠडॎ आोद म雀� ᨅयॏ鐄 त ऻख़नॕ शॊलॎ भॊहॊ _____________कऻलॊतॎ ऻॖ।

तकनॎकॎ ोऻॠदॎ

ॠऺचॊरॎ ोऻॠदॎ

ऺरकॊरॎ गॖर ऺरकॊरॎ कॊयॊ�लयॎ ोऻॠदॎ

शॊोण瘂甉क ोऻॠदॎ

Correct Answer :­शॊोण瘂甉क ोऻॠदॎ 

24)

Question Stimulus :­

‘दख़ ोकलख़ अनॊज’ कग़न ऺॊ ोशषॕहण ऻॖ

गॏणशॊचक ोशषॕहण

ोनो埯�त  ॠऺ꜊ॊशॊचक ोशषॕहण

ोनो埯�त प瘂रमॊणशॊचक ोशषॕहण

ॠऺकॕतशॊचक ोशषॕहण



Correct Answer :­ोनो埯�त प瘂रमॊणशॊचक ोशषॕहण 

25)

Question Stimulus :­

ोन꤅ म雀� ऺॕ कग़न ऺॊ मॏऻॊशरॊ नऻॎ ॠ ऻॖ ?

मॊथॊ ठनकनॊ

मॊथॊ फॐ टनॊ

आँख雀� चॏरॊनॊ

कॊन खीॕ ऻख़नॊ

Correct Answer :­मॊथॊ फॐ टनॊ 

Topic:­ General Mathematics
1)

Question Stimulus :­

Correct Answer :­  

2)

Question Stimulus :­

10

7



5

8

Correct Answer :­5 

3)

Question Stimulus :­

The difference of the sum and the product of zeros of the polynomial

f(x) = 5x3 + 12x2 ­ 11x + 4 is / बᄅपद f(x) = 5x3 + 12x2 ­ 11x + 4 कॕ षॐഈख़ ॠ कॕ गॏणनफल और यख़ग कॊ अॠतर ऻॖ
:

Correct Answer :­  

4)

Question Stimulus :­

8

12

6

4

Correct Answer :­6 

5)

Question Stimulus :­



If the vertices of triangle ABC are A(1 , ­ 4), B(3 , 2) and C(­1 , 2), then the length of the altitude
through A is / योद ABC ो�कख़ण कॕ कख़नॕ A(1 , ­ 4), B(3 , 2) एशॠ C(­1 , 2) ऻ�, तब A ህॊरॊ बनॕ षॎह�­लॠब कॎ
लॠबॊई ऻॖ:

8 cm / 8 ऺॕमॎ

6 cm/ 6 ऺॕमॎ

Correct Answer :­6 cm/ 6 ऺॕमॎ 

6)

Question Stimulus :­

A letter is chosen at random from the letters of the word 'DISTRIBUTION'. What is the probability of
getting a letter other than T. / ष༈ 'DISTRIBUTION' ऺॕ यॊ뤄瘂눉कतॊ ऺॕ एक अ埠�र चॏनॊ जॊतॊ ऻॖ। T कॕ
अलॊशॊ अഈ अ埠�र ᨅॊ⤈ ऻख़नॕ कॎ ᨅॊोयकतॊ ܊ॊ ऻॖ?

11/12

5/6

1/6

1/4

Correct Answer :­5/6 

7)

Question Stimulus :­

3cm / 3 ऺॕमॎ

5cm/ 5 ऺॕमॎ

4cm / 4ऺॕमॎ

2cm / 2 ऺॕमॎ

Correct Answer :­2cm / 2 ऺॕमॎ 



8)

Question Stimulus :­

Correct Answer :­  

9)

Question Stimulus :­

In a single throw of two dice, the probability of getting 12 as a product is / दख़ पॊॠऺॕ कॕ एकल ᨅ埠ॕ�प म雀�,
गॏणनफल कॕ 䐈प म雀� 12 ᨅॊ⤈ ऻख़नॕ कॎ ᨅॊोयकतॊ ऻॖ :

Correct Answer :­  

10)

Question Stimulus :­



14cm / 14 ऺॕमॎ

8cm / 8 ऺॕमॎ

12cm / 12 ऺॕमॎ

11cm / 11 ऺॕमॎ

Correct Answer :­12cm / 12 ऺॕमॎ 

11)

Question Stimulus :­

The coordinates of the centroid of a triangle, whose vertices are (5 , 3), (­ 7 , ­ 10), (2 , 7) , are / एक
ो�कख़ण, ोजऺकॕ षॎह� (5 , 3), (­ 7 , ­ 10), (2 , 7) ऻ�, कॕ क雀� ህक कॊ ोनद雀�षॊॠक ऻॖ:

(1 , 2)

(0 , 0)

(0 , 1)

(1 , 0)

Correct Answer :­(0 , 0) 

12)

Question Stimulus :­

If  f(x) = 2x3 ­ 4x2 + 2 is divided by g(x) = x2 ­ x ­ 1 , then the degree of the remainder is / योद f(x) = 2x3 ­ 4x2 + 2
कख़ g(x) = x2 ­ x ­ 1 ऺॕ ोशभॊोजत ोकयॊ जॊए, तख़ षॕहफल कॎ ोड瀅ॎ ऻॖ :

Less than 2 / 2 ऺॕ कम

Less than 3 / 3 ऺॕ कम

Less than 1 / 1 ऺॕ कम

Equal to 1 / 1 कॕ बरॊबर

Correct Answer :­Less than 2 / 2 ऺॕ कम 

13)

Question Stimulus :­



6

3

Correct Answer :­  

14)

Question Stimulus :­

A two digit number is obtained by, multiplying the sum of its digits by 8 and subtracting 4 or multiplying the
difference of the digits by 17 and adding 1 to it. Find the digit in ten's place. / एक दख़ अॠकख़ ॠ कॎ  ॠऺ꜊ॊ कख़, इऺकॕ
अॠकख़ ॠ कॕ यख़ग कख़ 8 ऺॕ गॏणॊ कर उऺम雀�  4 घटॊ दॕनॕ ऺॕ यॊ इऺकॕ अॠकख़ ॠ कॕ अॠतर कख़ 17 ऺॕ गॏणॊ कर उऺम雀� 1 जख़ी दॕनॕ ऺॕ ᨅॊ⤈ कॎ
जॊतॎ ऻॖ।  ॠऺ꜊ॊ कॕ दऻॊई अॠक कख़ 쀅ॊत कर雀�।

2

6

3

5

Correct Answer :­5 

15)

Question Stimulus :­

45°

60°

30°

90°

Correct Answer :­30° 

16)

Question Stimulus :­

The volume of a cone of height 7cm and slant height 10cm is / एक षॠकॏ  कॎ ऊँचॊई 7 ऺॕमॎ एशॠ ोतरछॎ



The volume of a cone of height 7cm and slant height 10cm is / एक षॠकॏ  कॎ ऊँचॊई 7 ऺॕमॎ एशॠ ोतरछॎ
ऊँचॊई 10 ऺॕमॎ ऻॖ, इऺकॊ आयतन :

660cm3/ 660ऺॕमॎ3

374cm3/ 374ऺॕमॎ3

286cm3/ 286ऺॕमॎ3

712cm3/ 712ऺॕमॎ3

Correct Answer :­374cm3/ 374ऺॕमॎ3 

17)

Question Stimulus :­

Correct Answer :­  

18)

Question Stimulus :­

The mean of all the factors of 48 is / 48 कॕ ऺभॎ गॏणनखॠडख़ ॠ कॊ मॊퟧ� ऻॖ :

8.4

13.7

12. 4

9.4

Correct Answer :­12. 4 

19)

Question Stimulus :­

The smallest number, when divided by 18 and 16 leave the remainder 2, is / शऻ ऺबऺॕ छख़टॎ  ॠऺ꜊ॊ बतॊएॠ ,
ोजऺॕ योद 18 एशॠ 16 ऺॕ ोशभॊोजत ोकयॊ जॊए तख़ षॕहफल 2 ᨅॊ⤈ ऻख़तॊ ऻॖ :



128

192

290

146

Correct Answer :­146 

20)

Question Stimulus :­

How many bricks each measuring 25cm x 10cm x 6cm are required to build a wall 18m long, 10m high
and 80cm thick, if 20% of the wall is filled with morter? / एक 18 मॎ लॠबॎ, 10 मॎ ऊँचॎ एशॠ 80 ऺॕमॎ मख़टॎ
दॎशॊर कॊ ोनमॊ�ण करनॕ म雀� 25ऺॕमॎ x 10ऺॕमॎ x 6ऺॕमॎ मॊप शॊलॎ ोकतनॎ ईॠटख़ ॠ कॎ आश쨉कतॊ ऻॖ, योद दॎशॊर कख़
20%, गॊरॊ ህॊरॊ भरॊ जॊनॊ ऻख़?

82400

76800

91450

69190

Correct Answer :­76800 

21)

Question Stimulus :­

23.1

23.85

25.23

21.4

Correct Answer :­23.85 

22)

Question Stimulus :­



Correct Answer :­  

23)

Question Stimulus :­

The perimeter of a right triangle is 40cm and its hypotenuse 17cm. The area of the triangle is / ऺम
ो�कख़ण कॊ प瘂रमॊप 40ऺॕमॎ ऻॖ और उऺकॊ कण� 17 ऺॕमॎ ऻॖ। ो�कख़ण कॊ 埠ॕ��फल ऻॖ

150 cm2/ 150 ऺॕमॎ2

80 cm2/ 80 ऺॕमॎ2

120 cm2/ 120 ऺॕमॎ2

60 cm2/ 60 ऺॕमॎ2

Correct Answer :­60 cm2/ 60 ऺॕमॎ2 

24)

Question Stimulus :­

AP and AQ are two tangents to a circle with centre ‘O’. The perimeter of the quadrilateral APOQ is 36cm and if
AP = 12cm, then OQ =  / AP और AQ क雀� ህ ‘O’ कॕ एक श॑ पर दख़ ㈉ष�रॕखॊएॠ  ऻ�। चतॏभॏ�ज APOQ कॊ प瘂रमॊप 36 ऺॕमॎ ऻॖ
और योद AP = 12 ऺॕमॎ ऻॖ, तख़ OQ =

8cm / 8 ऺॕमॎ

16cm / 16 ऺॕमॎ

12cm / 12 ऺॕमॎ

6cm / 6 ऺॕमॎ

Correct Answer :­6cm / 6 ऺॕमॎ 

25)

Question Stimulus :­



If the sum of the circumference and the diameter of a circle is 232cm, then its radius is /  योद एक श॑ कॎ प瘂रोध एशॠ
䰈ॊऺ कॊ यख़ग 232 ऺॕमॎ ऻॖ, तब इऺकॎ ो�甉ॊ ऻॖ :

28cm / 28 ऺॕमॎ

32cm/ 32 ऺॕमॎ

26cm/ 26 ऺॕमॎ

34cm/ 34 ऺॕमॎ

Correct Answer :­28cm / 28 ऺॕमॎ 

Topic:­ General English
1)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

 

My parents have been married _______ forty­nine years, but you can still see the love ________ their
eyes.

since, with

for, among

for, in

against, since

Correct Answer :­for, in 

2)

Question Stimulus :­

Choose the option that best transforms the given sentence as directed:

 

Who would not love his country? (The assertive form of the sentence)

He could not love his country.

Nobody can love their country.

Everyone loves their country.

All could not love their country.

Correct Answer :­Everyone loves their country. 

3)

Question Stimulus :­



Choose the option that best fills in to complete the given sentence::

 

Your English _________ better.

gets

has gotten

is getting

got

Correct Answer :­is getting 

4)

Question Stimulus :­

Choose the option that best punctuates the given sentence:

 

It cant be said Anil indignantly I was on duty last light and the night before

It can’t be said Anil, indignantly I was on duty last light and the night before!

It can’t be said Anil, indignantly “I was on duty last light and the night before.”

“It cant be,” said Anil indignantly, “I was on duty last light and the night before.”

“It can’t be!” said Anil indignantly. “I was on duty last light! And the night before!”

Correct Answer :­“It can’t be!” said Anil indignantly. “I was on duty last light! And the night before!” 

5)

Question Stimulus :­

Choose the most suitable determiner for the given sentence:

 

__________ planet from the Sun and from Mars has a year of 687 days.

The fourth

The four

Four

Fourth

Correct Answer :­The fourth 

6)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:



 

 

__________ it was very cold, neither Ajay nor Vijay put on his coat.

However

Although

But

Nevertheless

Correct Answer :­Although 

7)

Question Stimulus :­

Choose the option that best transforms the sentence into its Direct / Indirect form:

 

 Do you want tea or coffee?

He asked me that I wanted tea or coffee

He asked me if I wanted tea or coffee

He asked me whether if I wanted tea or coffee

He asked me which I wanted tea or coffee

Correct Answer :­He asked me if I wanted tea or coffee 

8)

Question Stimulus :­

Choose the correct form of verb that is in agreement with the subject:

 

The boys _________ bad for their mistake.

feel

feels

feeled

can be feeling

Correct Answer :­feel 

9)

Question Stimulus :­

Choose the option that best transforms the given sentence as directed:



 

He is very rich. He leads a very simple life.

(Combine the two sentences into one sentence)

He is very rich, so he leads a very simple life.

Being rich, he leads a simple life.

In spite of being rich, yet he leads a simple life.

He is very rich but leads a very simple life.

Correct Answer :­He is very rich but leads a very simple life. 

10)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

 

The girls didn’t want to spend a long time ________ the carnival.

at

until

among

during

Correct Answer :­at 

11)

Question Stimulus :­

Choose the appropriate option that fills in the given sentence correctly:

 

Smoking will never be given up, ____________ the tobacco industry thrives.

so that

as long as

though

as if

Correct Answer :­as long as 

12)

Question Stimulus :­

Choose the option that best fills in to complete the given sentence::



 

 

I _________ a very interesting book at the moment.

have read

read

have been reading

am reading

Correct Answer :­am reading 

13)

Question Stimulus :­

Choose the option that best fills in to complete the given sentence::

 

Every night for the last two years John _____________ in this restaurant.

is working

has worked

works

working

Correct Answer :­has worked 

14)

Question Stimulus :­

Read the sentence carefully and choose the option that has an error in it:

 

I have scarcely no qualms about the rights and wrongs of my doing.

I have scarcely no qualms

about the rights and wrongs

of my doing.

No error

Correct Answer :­I have scarcely no qualms 

15)

Question Stimulus :­

Choose the option that best transforms the sentence into its other voice:



 

 

Somebody cleans these rooms every day.

These rooms are cleaned every day for someone.

Those rooms are cleaned every day.

These rooms are being cleaned every day.

These rooms are cleaned every day.

Correct Answer :­These rooms are cleaned every day. 

16)

Question Stimulus :­

Choose the option that is closest in meaning to the highlighted word in the given sentence:

 

India has to rebuild its reputation as a champion of human rights.

fame

discredit

competition

permutation

Correct Answer :­fame 

17)

Question Stimulus :­

Choose the option that best punctuates the given sentence:

 

State owned Bank of India offers extra interest to long term investors

State­owned Bank of India offers extra interest to long term investors.

State owned Bank of India offers extra interest to long­term investors.

State­owned Bank of India offers extra interest to long­term investors.

State owned Bank of India offers extra interest to long term investors.

Correct Answer :­State­owned Bank of India offers extra interest to long­term investors. 

18)

Question Stimulus :­

Choose the option that best transforms the sentence into its Direct / Indirect form:



The teacher said, “The sun rises in the east.”

The teacher said that the sun will rises in the east.

The teacher said the sun rose in the east

The teacher said the sun will rise in the east.

The teacher said that the sun rises in the east.

Correct Answer :­The teacher said that the sun rises in the east. 

19)

Question Stimulus :­

Complete the sentence choosing the right form of Prefix:

 

This magazine is published  ___weekly.

re­

non­

bi­

post­

Correct Answer :­bi­ 

20)

Question Stimulus :­

Choose the option that best transforms the sentence into its other voice:

 

Someone stole my car.

My car is stolen by someone.

My car is being stolen.

My car has been stolen.

My car was stolen.

Correct Answer :­My car was stolen. 

Topic:­ RC_General English
1)

Question Stimulus :­

Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He built
the water clock and an instrument to find out time with the help of shadows. Little Newton was also



interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and Every
particle in the universe is attracted by all other particles. Newton devoted his life to science. ‘Principia
Mathematica’ and ‘Optics’ are the famous books of Newton. He passed away in 1727 at the age of 85.

 

Which fine art was Newton interested in?

Dance

Music

Painting

Drawing

Correct Answer :­Painting 

2)

Question Stimulus :­

Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He built
the water clock and an instrument to find out time with the help of shadows. Little Newton was also
interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and Every
particle in the universe is attracted by all other particles. Newton devoted his life to science. ‘Principia
Mathematica’ and ‘Optics’ are the famous books of Newton. He passed away in 1727 at the age of 85.

 

 How could one find the time of day with the instrument that Newton had invented?

By means of sunlight.

By means of moonlight.

By means of shadows.

By means of a pair of arms.

Correct Answer :­By means of shadows. 

3)

Question Stimulus :­

Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He built
the water clock and an instrument to find out time with the help of shadows. Little Newton was also



interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and Every
particle in the universe is attracted by all other particles. Newton devoted his life to science. ‘Principia
Mathematica’ and ‘Optics’ are the famous books of Newton. He passed away in 1727 at the age of 85.

 

When was Sir Isaac Newton born?

1640

1650

1642

1648

Correct Answer :­1642 

4)

Question Stimulus :­

Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He built
the water clock and an instrument to find out time with the help of shadows. Little Newton was also
interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and Every
particle in the universe is attracted by all other particles. Newton devoted his life to science. ‘Principia
Mathematica’ and ‘Optics’ are the famous books of Newton. He passed away in 1727 at the age of 85.

 

To which subject did he devote his life?

English

SĐieŶĐe

Statistics

Politics

Correct Answer :­SĐieŶĐe 

5)

Question Stimulus :­

Read the following passage and answer the question given below:

Sir Isaac Newton born in 1642, in Lancashire, a small village in England, was a clever child. He built
the water clock and an instrument to find out time with the help of shadows. Little Newton was also



interested in painting, collecting flowers and plants.

In 1665, he graduated from Trinity College. His contributions are the following: Differential and
integral Calculus and Binomial Theorem. Newton also proposed the three laws of motion, i.e. An
object moves only when force is applied; Every action has an equal and opposite reaction; and Every
particle in the universe is attracted by all other particles. Newton devoted his life to science. ‘Principia
Mathematica’ and ‘Optics’ are the famous books of Newton. He passed away in 1727 at the age of 85.

 

Which college did Newton graduate from?

Oxford

Harvard

Stanford

Trinity

Correct Answer :­Trinity 

Topic:­ General Knowledge
1)

Question Stimulus :­

________ is often nicknamed the “Sikkimese Sniper”. /  ______ᨅॊयॡ “ोऺ瘂팋मॎि ᄇॊइपर” ऺॕ उपनॊोमत ोकयॕ जॊतॕ ऻ�|

Pawan Kumar Chamling / पशन कॏ मॊर चॊमोलॠग

Baichung Bhutia / बॊइचॏॠग भॐोटयॊ

Omi Gurung / ओमॎ गॏरॠग

Tarundeep Rai / त젅णदॎप रॊय

Correct Answer :­Baichung Bhutia / बॊइचॏॠग भॐोटयॊ 

2)

Question Stimulus :­

________ has the largest reserves of diamond in India. / भॊरत म雀� ऻॎरॕ कॊ ऺबऺॕ बीॊ भॠडॊर ________ म雀� ऻॖ।

Maharashtra / मऻॊरॊစ휀�

Uttar Pradesh / उर ᨅदॕष

Madhya Pradesh / मퟧ�ᨅदॕष

Rajasthan / रॊजथॊन

Correct Answer :­Madhya Pradesh / मퟧ�ᨅदॕष 

3)

Question Stimulus :­



The river Cauvery originates from which state? / कॊशॕरॎ नदॎ ोकऺ रॊ甉 ऺॕ उ꤇瘅 ऻख़तॎ ऻॖ?

Kerala / कॕरल

Telangana / तॕलॠगॊनॊ

Maharashtra / मऻॊरॊစ휀�

Karnataka / कनॊ�टक

Correct Answer :­Karnataka / कनॊ�टक 

4)

Question Stimulus :­

When was the Reserve Bank of India nationalized? / भॊरतॎय 瘂रजश� ब�क कख़ रॊစ휀� ॎयक॑त कब ोकयॊ गयॊ थॊ?

ϭst DeĐeŵďer ϭ9ϰ9 / 1 ोदऺ興र 1949

1st January 1949 / 1 जनशरॎ 1949

1st February 1949 / 1 फरशरॎ 1949

1st March 1949 / 1 मॊच� 1949

Correct Answer :­1st January 1949 / 1 जनशरॎ 1949 

5)

Question Stimulus :­

Chapati shot in cricket is a trademark shot of ___________. / ो㼇कॕट म雀� चपॊतॎ षॗट ___________ कॊ ट휀� ॕडमॊक�  षॗट
ऻॖ।

Ravi Shastri / रोश षॊ鄉ॎ

Sachin Tendulkar / ऺोचन त雀�दॏलकर

Sunil Gavaskar /  ॏऺनॎल गशॊㄋर

Rahul Dravid / रॊᄅल ህोशी

Correct Answer :­Ravi Shastri / रोश षॊ鄉ॎ 

6)

Question Stimulus :­

__________ gharana of Indian classical music was founded by Amir Khan. / भॊरतॎय षॊ鄉ॎय  ॠऺगॎत कॊ
__________ घरॊनॊ आोमर खॊन ህॊरॊ थॊोपत ोकयॊ गयॊ थॊ।

Agra / आगरॊ

Indore / इॠदग़र

Kirana / ोकरॊनॊ



Patiala / पोटयॊलॊ

Correct Answer :­Indore / इॠदग़र 

7)

Question Stimulus :­

Which is the highest military award in Indian Defence Services? /  भॊरतॎय र埠�ॊ ऺॕशॊओॠ म雀� ऺश흝�䰈 ऺॖഈ पॏरㄋॊर कग़न
ऺॊ ऻॖ?

Param Vir Chakra / परम शॎर च㼇

Ashok Chakra Award / अषख़क च㼇 अशॊड�

Maha Veera Chakra / मऻॊ शॎर च㼇

Sarvottam Yudh Seva Medal / ऺश흝�म यॏ蔇 ऺॕशॊ पदक

Correct Answer :­Param Vir Chakra / परम शॎर च㼇 

8)

Question Stimulus :­

Mahabalipuram, one of the architectural wonders of the world is situated along the shores of _________. /
मऻॊबलॎपॏरम, ोश韦� कॕ शॊ⌉ॏोषॎय आ埯�य흝� म雀� ऺॕ एक ऻॖ जख़ ________ कॕ तट पर 瘂थत ऻॖ।

Arabian Sea / अरब ऺॊगर

Andaman Sea / अॠडमॊन ऺॊगर

Indian Ocean / ोऻॠद मऻॊऺॊगर

Bay of Bengal / बॠगॊल कॎ खॊीॎ

Correct Answer :­Bay of Bengal / बॠगॊल कॎ खॊीॎ 

9)

Question Stimulus :­

The name of airport in Bhopal is ________. / भख़पॊल म雀� ऻशॊई अ訅ॕ कॊ नॊम ______ ऻॖ।

Devi Ahilyabai Holkar Airport / दॕशॎ अोऻ䴉ॊबॊई ऻख़�र ऻशॊई अ訅ॊ

Dumna Airport / डॏमनॊ ऻशॊई अ訅ॊ

Panna Airport / प瘅ॊ ऻशॊई अ訅ॊ

Raja Bhoj International Airport / रॊजॊ भख़ज अॠतररॊစ휀� ॎय ऻशॊई अ訅ॊ

Correct Answer :­Raja Bhoj International Airport / रॊजॊ भख़ज अॠतररॊစ휀� ॎय ऻशॊई अ訅ॊ 

10)

Question Stimulus :­



The Union Government announced that Rs. 500 &  Rs. 1,000 notes would cease to be legal tender in 2016. It was
announced by __________ in a surprise address to the nation. / कॕ� ህ ऺरकॊर नॕ 500 तथॊ 1,000 कॕ नख़टख़ ॠ कख़ अशॖध
घख़ोहत कर ोदयॊ। यऻ ______  कॕ ህॊरॊ अपनॕ  ॠऺबख़धन कॕ दग़रॊन ोकयॊ गयॊ।

The President / रॊ  ट휀�  पोत

The Prime Minster / ᨅधॊनमॠ�ॎ

The RBI Governor / आरबॎआई कॕ गशन�र

The Chief Justice / मॏ刅 य � यॊयॊधॎष

Correct Answer :­The Prime Minster / ᨅधॊनमॠ�ॎ 

11)

Question Stimulus :­

Kailash Satyarthi founded ________ Andolan. / कॖलॊष ऺॊथ戂 नॕ ________ आॠदख़लन कॎ थॊपनॊ कॎ।

Narmada Bachao / नम�दॊ बचॊओ

Namantar  / नॊमॊॠतर

Jungle Bachao / जॠगल बचॊओ

Bachpan Bachao / बचपन बचॊओ

Correct Answer :­Bachpan Bachao / बचपन बचॊओ 

12)

Question Stimulus :­

India’s second largest port by volume of cargo handled is ___________ port. / ोश⌉ॊर­埠ॕ�� कॕ अनॏऺॊर ोनयॠो�त
ोकयॊ जॊनॕ शॊलॊ भॊरत कॊ दॐ ऺरॊ ऺबऺॕ बीॊ बॠदरगॊऻ _________ बॠदरगॊऻ ऻॖ।

Krishnapatnam / क॑刉ॊपनम

Visakhapatnam / ोशषॊखॊपट्नम

Gangavaram / गॠगॊशरम

Kakinada / कॊकॎनॊडॊ

Correct Answer :­Visakhapatnam / ोशषॊखॊपट्नम 

13)

Question Stimulus :­

  __________ was the first Indian politician to interact with citizens on a live chat over the internet. / __________
इॠटरनॕट कॕ मॊퟧ�म ऺॕ लॊइश चॖट पर नॊग瘂रकख़ ॠ ऺॕ बॊतचॎत करनॕ शॊलॕ पऻलॕ भॊरतॎय रॊजनॎोत쀅 थॕ।

Atal Bihari Vajpayee / अटल ोबऻॊरॎ शॊजपॕयॎ

Narendra Modi / नर雀�ህ मख़दॎ



L.K. Advani / एल.कॕ. आडशॊणॎ

A.P.J. Abdul Kalam / ए.पॎ.जॕ.अ༈ॏल कलॊम

Correct Answer :­Narendra Modi / नर雀�ህ मख़दॎ 

14)

Question Stimulus :­

Good governance day is observed annually on 25th December, the birth anniversary of __________. / 25 ोद ॠऺबर
कख़ ᨅोतशह�  ॏऺषॊऺन ोदशऺ मनॊयॊ जॊतॊ ऻॖ, जख़ोक __________ कॊ ज怈 ोदशऺ ऻॖ।

Atal Bihari Vajpayee / अटल ोबऻॊरॎ शॊजपॕयॎ

L.K. Advani / एल. कॕ. आडशॊणॎ

A.P.J. Abdul Kalam / ए. पॎ. जॕ. अ༈ॏल कलॊम

I.K. Gujral / आई. कॕ. गॏजरॊल

Correct Answer :­Atal Bihari Vajpayee / अटल ोबऻॊरॎ शॊजपॕयॎ 

15)

Question Stimulus :­

___________ is called the “Rani of Jhansi.” / __________ कख़ “झॊँऺॎ कॎ रॊनॎ” कऻॊ जॊतॊ ऻॖ।

Rani Ahilya Bai / रॊनॎ अोऻ䴉ॊबॊई

Rani Lakshmi Bai / रॊनॎ ल埬�ॎबॊई

Rani Durgawati / रॊनॎ दॏगॊ�शतॎ

Akkadevi / अ팋ॊदॕशॎ

Correct Answer :­Rani Lakshmi Bai / रॊनॎ ल埬�ॎबॊई 

16)

Question Stimulus :­

____________ is also known as “Modern Meera”. / _________कख़ "आधॏोनक मॎरॊ" कॕ 䐈प म雀� भॎ जॊनॊ जॊतॊ ऻॖ।

M.S. Subbulakshmi / एम. एऺ.  ॏऺ䔈ॏल埬�ॎ

Mahadevi Varma / मऻॊदॕशॎ शमॊ�

Sarojini Naidu / ऺरख़ोजनॎ नॊयडॐ

Vimala Devi / ोशमलॊ दॕशॎ

Correct Answer :­Mahadevi Varma / मऻॊदॕशॎ शमॊ� 

17)

Question Stimulus :­



National Mathematics day is celebrated in India on December 22 on the birthday of ___________. / भॊरत म雀�
रॊစ휀� ॎय गोणत ोदशऺ, 22 ोदऺ興र कख़ __________ कॕ ज怈ोदशऺ पर मनॊयॊ जॊतॊ ऻॖ।

Harish Chandra / ऻ瘂र埯�ॠህ

Srinivasa Ramanujan / ៦�ॎोनशॊऺ रॊमॊनॏजन

Shakuntala Devi / षकॏॠ तलॊ दॕशॎ

P.C. Mahalanobis / पॎ.ऺॎ. मऻॊलॊनख़ोबऺ

Correct Answer :­Srinivasa Ramanujan / ៦�ॎोनशॊऺ रॊमॊनॏजन 

18)

Question Stimulus :­

As per 2011 census, _________ is the second least populous state in the country. / 2011 कॎ जनगणनॊ कॕ अनॏऺॊर,
दॕष कॊ दॐ ऺरॊ ऺबऺॕ कम आबॊदॎ शॊलॊ रॊ甉 ________ ऻॖ।

Manipur / मोणपॏर

Nagaland / नॊगॊल�ड

Arunachal Pradesh / अ젅णॊचल रॊ甉

Mizoram / ोमिख़रम

Correct Answer :­Mizoram / ोमिख़रम 

19)

Question Stimulus :­

The states of Meghalaya, Manipur and Tripura were created in________. / मॕघॊलय, मोणपॏर एशॠ ो�पॏरॊ रॊ甉ख़ॠ कख़
________ म雀� बनॊयॊ गयॊ।

1970

1972

1975

1978

Correct Answer :­1972 

20)

Question Stimulus :­

Who among the following has been elected as Chairman and Managing Director (CMD) of the  Uranium
Corporation of India Limited (UCIL)? / ोन㸃 न म雀� ऺॕ ोकऺॕ यॐरॕोनयम कॗप흝�रॕषन ऑफ इॠ ोडयॊ ोलोमटॕड (UCIL) कॕ अퟔ� य埠�
तथॊ ᨅबॠध ोनदॕषक (CMD) पद पर ोनयॏ鐄 त ोकयॊ गयॊ ऻॖ?

Debashish Ghosh / दॕबॊषॎह घख़ह

Sanjeev Sood /  ॠऺजॎश  ॐऺद



CK Asnani / ऺॎ.कॕ. अ नॊनॎ

Vinod Agarwal / ोशनख़द अ瀅शॊल

Correct Answer :­CK Asnani / ऺॎ.कॕ. अ नॊनॎ 

21)

Question Stimulus :­

________ is popularly known as “Human computer”. / ________ , "मॊनश कॠ ᰈॐटर” कॕ नॊम ऺॕ ोश刅 यॊत ऻ�।

Srinivasa Ramanujam / ៦�ॎोनशॊऺ रॊमॊनॏजम

Harish­Chandra / ऻरॎष­च

Shakuntala Devi / षकॏॠ तलॊ दॕशॎ

P.C. Mahalanobis / पॎ. ऺॎ. मऻॊलनख़ोबऺ

Correct Answer :­Shakuntala Devi / षकॏॠ तलॊ दॕशॎ 

22)

Question Stimulus :­

First Indian paralympian to win two medals at the Paralympics is _____________. / पॖरॊोल瘂欈鈊 म雀� दख़ पदक
जॎतनॕ शॊलॕ पऻलॕ भॊरतॎय पॖरॊोल瘂欈यन _____________ ऻ�।

Devendra Jhajharia / दॕश雀�ህ झॊझ瘂रयॊ

Mariyappan Thangavelu / म瘂रय꤇न थॊ�गॊशॕलॏ

Deepa Malik / दॎपॊ मॊोलक

Varun Bhati / श젅ण भॊटॎ

Correct Answer :­Devendra Jhajharia / दॕश雀�ህ झॊझ瘂रयॊ 

23)

Question Stimulus :­

Which country declared an emergency due to flooding on 5th November 2016? / ोकऺ दॕष नॕ 5 नशॠबर, 2016 कख़
बॊु कॕ कॊरण आपॊतकॊल कॎ घख़हणॊ कॎ?

Mexico / मॖ瘂鈊कख़

India / भॊरत

Russia / 䐈ऺ

Australia / ऑ ट휀� ॕोलयॊ

Correct Answer :­Mexico / मॖ瘂鈊कख़ 

24)



Question Stimulus :­

Bhoja was an Indian King from the _______ dynasty . / भख़ज, _______ रॊजशॠष कॊ एक भॊरतॎय रॊजॊ थॕ।

Paramara / परमॊर

Mughul / मॏगल

Nanda / नॠदॊ

Maurya / मग़य�

Correct Answer :­Paramara / परमॊर 

25)

Question Stimulus :­

Which one of these Chief Ministers has not served a second term? / इन मॏ꜊मॠो�यख़ ॠ म雀� ऺॕ ोकऺनॕ दॐ ऺरॕ कॊय�कॊल
म雀� ऺॕशॊ नऻॎ ॠ दॎ?

Bhagwantrao Mandloi / भगशॠतरॊश मॠडलख़ई

Sunderlal Patwa /  ॏऺॠदरलॊल पटशॊ

Arjun Singh / अजॏ�न ो ॠऺऻ

Uma Bharti / उमॊ भॊरतॎ

Correct Answer :­Uma Bharti / उमॊ भॊरतॎ 

Topic:­ General Computer Knowledge
1)

Question Stimulus :­

How to create Newsletter columns in MS Word­2007? / MS Word­2007 म雀� � यॐिलॕटर कॗलम कॖऺॕ ो㼇एट
ोकए जॊतॕ ऻ�?



Correct Answer :­  

2)

Question Stimulus :­

On successful compilation of an Android application project, the ________ output file should be
downloaded to your mobile for the app to be installed / एॠ ड휀� ॗयड ए लॎकॕषन कॕ ऺफल क㸃 पॊइलॕषन पर
आपकॕ मख़बॊइल पर एप कॕ इॠ टॊलॕषन कॕ ोलए __________ आउटपॏट फॊइल डॊउनलख़ड कॎ जॊनॎ चॊोऻए।

.apk file

.jdk file

.pdb file

.sdk file

Correct Answer :­.apk file 

3)

Question Stimulus :­

What function displays row data in a column or column data in a row in MS Excel? / MS Excel म雀�, 
कग़न ऺॊ फॠ 鐄 षन रख़ डॕटॊ कख़ कॗलम म雀� यॊ कॗलम डॕटॊ कख़ रख़ म雀� ोड  लॕ करतॊ ऻॖ?

Intercept / इॠटरऺॕ ट

Convert / क� शट�

Transpose / ट휀� ॊॠ पख़ि

Rows / रख़ि

Correct Answer :­Transpose / ट휀� ॊॠ पख़ि 

4)



Question Stimulus :­

A dedicated high speed network or sub­network that interconnects and presents shared pools of
storage devices to multiple servers is called ­ / डॕडॎकॕटॕड ऻॊई  पॎड नॕटशक�  यॊ ऺब­नॕटशक�  जख़  टख़रॕज
ोडशॊइऺॕि कॕ षॕयड� पॐئى ऺ  कख़ म瘂Ⰹपल ऺश� �ऺ ऺॕ इॠटरकनॕ鐄 ट तथॊ ᨅि雀�ट करतॊ ऻॖ, कऻलॊतॊ ऻॖ ­

Local Area Network (LAN)  /  लख़कल ए瘂रयॊ नॕटशक�  (LAN)

Wide Area Network (WAN) /   शॊइड ए瘂रयॊ नॕटशक�  (WAN)

Storage Area Network (SAN)  /   टख़रॕज ए瘂रयॊ नॕटशक�  (SAN)

Network attached storage (NAS)  /  नॕटशक�  एटॖꌂ ड  टख़रॕज (NAS)

Correct Answer :­Storage Area Network (SAN)  /   टख़रॕज ए瘂रयॊ नॕटशक�  (SAN) 

5)

Question Stimulus :­

Which program is run by BIOS to check hardware components are working properly while computer
is turned ON? / ोन㸃 न म雀� ऺॕ BIOS ህॊरॊ कग़न ऺॊ ᨅख़瀅ॊम  ॠऺचॊोलत ोकयॊ जॊतॊ ऻॖ जख़ क㸃  यॐटर ऑन ऻख़नॕ पर यऻ
जॊॠच करतॊ ऻॖ ोक ऻॊड�शॕयर क㸃 पख़न雀�ट ऺमॏोचत 䐈प ऺॕ कॊय� कर रऻॕ ऻ�?

DMOS

POST

CMOS

RIP

Correct Answer :­POST 

6)

Question Stimulus :­

Which of the following was introduced in Windows 10 – personal computer operating system? / ोन㸃 न
म雀� ऺॕ 鐄 यॊ ोशॠडख़ि 10 म雀� प �ऺनल क㸃  यॐटर ऑपरॕोटॠग ोऺ टम म雀� पऻलॎ बॊर ᨅयॏ鐄 त ᄅआ ऻॖ?

Touch UI / टच UI

Metro Apps / मॕट휀� ख़ ए ऺ

Microsoft Edge / मॊइ㼇ख़ऺॗ︉ एड्ि

Windows Hyperboot / ोशॠडख़ज ऻॊइपरबॐट

Correct Answer :­Microsoft Edge / मॊइ㼇ख़ऺॗ︉ एड्ि 

7)

Question Stimulus :­

Which language is used to create a macro in MS Excel?  / कग़न ऺॎ ल�괂 शॕज MS Excel म雀� मॖ㼇ख़ ो㼇एट करनॕ
कॕ ोलए ᨅयॏ鐄 त ऻख़तॎ ऻॖ?



Java / जॊशॊ

Visual Basic / ोशजॏअल बॕोऺक

PHP / पॎएचपॎ

C / ऺॎ

Correct Answer :­Visual Basic / ोशजॏअल बॕोऺक 

8)

Question Stimulus :­

Special effects used to introduce slides in a presentation is known as / ᨅि雀�टॕषन
म雀�  लॊइड कख़ इॠट휀� ख़ꌊॐऺ करनॕ कॕ ोलए इ तॕमॊल ोकए जॊनॕ शॊलॕ  पॕषल इफॕ鐄 ट ोन㸃 न कॕ 䐈प म雀� जॊनॕ जॊतॕ ऻ� ­

Transitions / ट휀� ॊॠो़जषॠऺ

Effects / इफॕ鐄 ट्ऺ

Custom Animations / क टम एोनमॕषॠऺ

Annotations / एनख़टॕषॠऺ

Correct Answer :­Transitions / ट휀� ॊॠो़जषॠऺ 

9)

Question Stimulus :­

Which of the statements below is true? / ोन㸃 न म雀� ऺॕ कग़न ऺॊ तퟕ� य ऺऻॎ ऻॖ?

HTTP Cookies are data (eg. Username) stored in small text files on your computer
 /  HTTP कॏ कॎि आपकॕ क㸃  यॐटर पर छख़टॎ टॕ鐄  ट फॊइئى ऺ  म雀�  टख़र ोकयॊ गयॊ डॕटॊ (उदॊऻरण कॕ ोलए यॐिर नॕम) ऻख़तॕ
ऻ�

HTTP Cookies are scripts written in Java code for playing Adobe Flash files on the
browser  /  HTTP कॏ कॎि 䐅ॊउिर पर एडख़ब ᄋॖष फॊइئى ऺ   लॕ करनॕ कॕ ोलए जॊशॊ कख़ड म雀� ोलखॎ ᄅई 瘂ㄋ ट्ऺ
ऻख़तॕ ऻ�

HTTP Cookies save your bookmarked URLs to your system   /  HTTP कॏ कॎि आपकॕ ोऺ टम
म雀� बॏकमॊक�  ोकए गए URLs कख़ रो埠�त करतॕ ऻ�

All of the above  /  उपरख़鐄 त ऺभॎ

Correct Answer :­HTTP Cookies are data (eg. Username) stored in small text files on your
computer  /  HTTP कॏ कॎि आपकॕ क㸃  यॐटर पर छख़टॎ टॕ鐄  ट फॊइئى ऺ  म雀�  टख़र ोकयॊ गयॊ डॕटॊ (उदॊऻरण कॕ ोलए यॐिर
नॕम) ऻख़तॕ ऻ� 

10)

Question Stimulus :­

Select the odd one out / अ ॠऺब蔇 ोशकئى प कॊ चयन कर雀�  ­

GNU Image manipulation program (GIMP) / GNU इमॕज मॖोनपॏलॕषन ᨅख़瀅ॊम



Adobe Photoshop / एडख़ब फख़टख़षॗप

Inkscape / इॠक कॕप

Adobe Dreamweaver / एडख़ब ड휀� ॎमशॎशर

Correct Answer :­Adobe Dreamweaver / एडख़ब ड휀� ॎमशॎशर 

11)

Question Stimulus :­

The shortcut key for thesaurus in MS Word (versions 2007) is / MS Word (शज�न 20007) म雀� thesaurus कॕ
ोलए षॗट�कट­ कॎ ऻॖ ।

Alt + F7

Alt + Shift + F7

Shift + F7

Ctrl+Alt+F7

Correct Answer :­Shift + F7 

12)

Question Stimulus :­

A html5 tag that is used to display a web page within a web page is / शऻ कग़न ऺॊ html5 टॖग ऻॖ ोजऺकॊ उपयख़ग
शॕब पॕज कॕ भॎतर शॕब पॕज ोड  लॕ करनॕ कॕ ोलए ोकयॊ जॊतॊ ऻॖ?

<iframe>

<frame>

<fr>

<ifr>

Correct Answer :­<iframe> 

13)

Question Stimulus :­

In MS Word, Ctrl + H is used to ____________. / MS Word म雀�, Ctrl + H कॊ इ तॕमॊल, _______

OpeŶ FiŶd aŶd ReplaĐe Dialog ďoǆ ǁith aĐ�ǀa�Ŷg ReplaĐe Taď / ReplaĐe Taď कख़ ए瘂렉शॕट करतॕ ᄅए
FiŶd aŶd ReplaĐe डॊयलॗग बॗ鐄 ऺ  ओपन करतॊ ऻॖ।

OpeŶ Forŵat Dialog ďoǆ aĐ�ǀa�Ŷg IŶsert HǇper LiŶk taď / IŶsert HǇper LiŶk Taď कख़ ए瘂렉शॕट करतॕ
ᄅए Forŵat डॊयलॗग बॗ鐄 ऺ  ओपन करतॊ ऻॖ।

OpeŶ IŶsert Dialog ďoǆ aĐ�ǀa�Ŷg IŶsert HǇper LiŶk Taď / IŶsert HǇper LiŶk Taď कख़ ए瘂렉शॕट करतॕ ᄅए
IŶsert डॊयलॗग बॗ鐄 ऺ  ओपन करतॊ ऻॖ।

OpeŶ IŶsert HǇper LiŶk Dialog ďoǆ / IŶsert HǇper LiŶk डॊयलॗग बॗ鐄 ऺ  ओपन करतॊ ऻॖ।



Correct Answer :­OpeŶ FiŶd aŶd ReplaĐe Dialog ďoǆ ǁith aĐ�ǀa�Ŷg ReplaĐe Taď / ReplaĐe Taď कख़
ए瘂렉शॕट करतॕ ᄅए FiŶd aŶd ReplaĐe डॊयलॗग बॗ鐄 ऺ  ओपन करतॊ ऻॖ। 

14)

Question Stimulus :­

Which is the database management system (DBMS) from Microsoft which is
part of the Microsoft Office Suite? / मॊइ㼇ख़ऺॗ︉ कॊ, ऐऺॊ कग़न ऺॊ डॕटॊबॕऺ मॖनॕजम雀�ट ोऺ टम ऻॖ
जख़ मॊइ㼇ख़ऺॗ︉ ऑोफऺ  ॏऺइट कॊ भॊग नऻॎ ॠ ऻॖ?

MySQL

MS Access

SQL Server

NoSQL

Correct Answer :­MS Access 

15)

Question Stimulus :­

A memory cache is usually stored in / मॖमख़रॎ कॖष ऺॊमॊ� य 䐈प ऺॕ ोन㸃 न म雀�  टख़र ऻख़तॎ ऻॖ ­

DRAM

SRAM

ROM

Flash memory / ᄋॖष मॕमरॎ

Correct Answer :­SRAM 

16)

Question Stimulus :­

Which option can be used to set custom timings for slides in a presentation,
to make MS Powerpoint automatically flip slides in sync with your speeches? /
MS पॗशर शॊइॠट कख़ आपकॎ  पॎच कॕ ऺॊथ ो ॠऺक म雀� ऑटख़मॕोटक 䐈प ऺॕ 瘂ᄋप  लॊइड्ऺ करनॕ म雀� ऺ埠�म बनॊनॕ
कॕ ोलए ोकऺ ोशकئى प कॊ उपयख़ग ोकयॊ जॊ ऺकतॊ ऻॖ?

Slider Timings /  लॊइडर टॊइोमॠ괂 ऺ

Rehearse Timings / 瘂रऻ �ऺ टॊइोमॠ괂 ऺ

Setup Slide show / ऺॕटअप  लॊइड षख़

Transition Duration / ट휀� ॊॠोजषन ꌊॐरॕषन

Correct Answer :­Rehearse Timings / 瘂रऻ �ऺ टॊइोमॠ괂 ऺ  

17)



Question Stimulus :­

Which of the following is not an example of a system software? / ोन㸃 न म雀� ऺॕ 鐄 यॊ ोऺ टम ऺॗ︉शॕयर कॊ
उदॊऻरण नऻॎ ॠ ऻॖ?

Device driver / ोडशॊइऺ ड휀� ॊइशर

Assembler / अऺॕ㸃 बलर

Word Processor / शड� ᨅॗऺॕऺर

Compiler / क㸃 पॊइलर

Correct Answer :­Word Processor / शड� ᨅॗऺॕऺर 

18)

Question Stimulus :­

What format is used to store data in the computer? / क㸃  यॐटर म雀� डॕटॊ  टख़र करनॕ कॕ ोलए ोन㸃 न म雀� ऺॕ ोकऺ
फॗम雀�ट कॊ उपयख़ग ोकयॊ जॊतॊ ऻॖ?

Binary / बॊइनरॎ

Decimal / डॕोऺमल

Octal / ऑ鐄 टल

Hexadecimal / ऻॕ鐄 ऺ ॊडॕोऺमल

Correct Answer :­Binary / बॊइनरॎ 

19)

Question Stimulus :­

Which of the following is not a Unix command? / ोन㸃 न म雀� ऺॕ 鐄 यॊ यॐोन鐄 ऺ  कमॊॠड नऻॎ ॠ ऻॖ?

cd

chdir

file

cls

Correct Answer :­cls 

20)

Question Stimulus :­

Javascript is commonly used for / जॊशॊ瘂ㄋ ट ऺॊमॊ� य 䐈प ऺॕ इनम雀� ऺॕ ोकऺकॕ ोलए ᨅयख़ग ोकयॊ जॊतॊ ऻॖ?

Image manipulation / इमॕज मॖोनपॏलॕषन कॕ ोलए

Form validation / शॖोलडॕषन फॗम� कॕ ोलए



Dynamic changes in content / कॠ टॕ� ट म雀� डॊयनॕोमक बदलॊश करनॕ कॕ ोलए

All of the above / उपरख़鐄 त ऺभॎ कॕ ोलए

Correct Answer :­All of the above / उपरख़鐄 त ऺभॎ कॕ ोलए 

21)

Question Stimulus :­

Which among the following is not a Logic gate? / ोन㸃 न म雀� ऺॕ 鐄 यॊ लॗोजक गॕट नऻॎ ॠ ऻॖ?

AND

XNAND

OR

XNOR

Correct Answer :­XNAND 

22)

Question Stimulus :­

Which file starts MS Word (Versions 2007 and above)? / ोन㸃 न म雀� ऺॕ कग़न ऺॎ फॊइल MS
Word ;VersioŶs ϮϬϬϳ तथॊ आगॕ शॊलॕͿ  टॊट� करतॎ ऻॖ?

Winword.exe

Word.exe

MSWord.exe

Word2016.exe

Correct Answer :­Winword.exe 

23)

Question Stimulus :­

WWW Browsers, FTP and HTTP exist in the ________  layer of the 7 layer OSI Model / WWW 䐅ॊउि �ऺ, FTP तथॊ
HTTP _________ लॕयर कॕ 7 लॕयर OSI मॗडल म雀� ऻख़तॕ ऻ�।

Network layer / नॕटशक�

Application layer / ए लॎकॕषन

Presentation layer / ᨅि雀�टॕषन

Transport layer / ट휀� ॊॠऺपख़ट�

Correct Answer :­Application layer / ए लॎकॕषन 

24)



Question Stimulus :­

WhiĐh of the folloǁiŶg is true regardiŶg page OrieŶta�oŶ of a DoĐuŵeŶt? / ोकऺॎ ड鐄 यॐम雀�ट कॕ पॕज
ओ瘂रएॠ टॕषन कॕ  ॠऺदभ� म雀� ोन㸃 न म雀� ऺॕ कग़न ऺॊ ोशकئى प ऺऻॎ ऻॖ?

Page OrieŶta�oŶ ĐaŶ ďe ĐhaŶged at aŶǇ �ŵe / पॕज ओ瘂रएॠ टॕषन ोकऺॎ भॎ ऺमय पर प瘂रशोत�त ोकयॊ
जॊ ऺकतॊ ऻॖ

Page OrieŶta�oŶ of doĐuŵeŶt is deterŵiŶed ďǇ priŶter / ड鐄 यॐम雀�ट कॊ पॕज ओ瘂रएॠ टॕषन ोᨅॠटर ህॊरॊ
ोनधॊ�瘂रत ोकयॊ जॊतॊ ऻॖ

Page OrieŶta�oŶ ŵust ďe set a�er tǇpiŶg / पॕज ओ瘂रएॠ टॕषन टॊइोपॠग कॕ बॊद ऺॕट ोकयॊ जॊनॊ चॊोऻए

Page OrieŶta�oŶ of a doĐuŵeŶt ĐaŶŶot ďe ĐhaŶged. / ड鐄 यॐम雀�ट कॊ पॕज ओ瘂रएॠ टॕषन प瘂रशोत�त नऻॎ ॠ
ोकयॊ जॊ ऺकतॊ ऻॖ

Correct Answer :­Page OrieŶta�oŶ ĐaŶ ďe ĐhaŶged at aŶǇ �ŵe / पॕज ओ瘂रएॠ टॕषन ोकऺॎ भॎ ऺमय पर
प瘂रशोत�त ोकयॊ जॊ ऺकतॊ ऻॖ 

25)

Question Stimulus :­

Which one of the following protocol is used to receive gmail (or) yahoo (or) Hotmail
messages? / ोन㸃 न म雀� ऺॕ ोकऺ ᨅख़टख़कॗल कॊ उपयख़ग जॎमॕल (यॊ) यॊᄅ (यॊ) ऻॗटमॕल  ॠऺदॕष ᨅॊ त करनॕ कॕ ोलए
ोकयॊ जॊतॊ ऻॖ?

Simple Mail Transfer Protocol (SMTP) / ोऺ㸃 पल मॕल ट휀� ॊॠऺफर ᨅख़टख़कॗल

Post Office Protocol 3 (POP3) / पख़ ट ऑोफऺ ᨅख़टख़कॗल 3 (POP3)

Internet Message Access Protocol (IMAP) / इॠटरनॕट मॕऺॕज ए鐄 ऺ ॕऺ ᨅख़टख़कॗल

All of the above / उपरख़鐄 त ऺभॎ

Correct Answer :­Post Office Protocol 3 (POP3) / पख़ ट ऑोफऺ ᨅख़टख़कॗल 3 (POP3) 

Topic:­ General Logical Reasoning
1)

Question Stimulus :­

The average age of the 27 girls in a class is 13. The teacher is 41 years old.
What is the average age including the teacher? / क埠�ॊ म雀� 27 लीोकयख़ ॠ कॎ औऺत आयॏ, 13
ऻॖ। अퟧ�ॊोपकॊ 41 शह� कॎ ऻॖ। अퟧ�ॊोपकॊ कख़ षॊोमल करकॕ औऺत आयॏ ܊ॊ ऻॖ?

27

14

20

34

Correct Answer :­14 



2)

Question Stimulus :­

If INSERT is coded JOTFSU, then how is PENETRATE coded? / योद INSERT कख़ JOTFSU ऺॕ कख़ोडत
ोकयॊ जॊतॊ ऻॖ, तख़ PENETRATE कख़ कॖऺॕ कख़ोडत ोकयॊ जॊयॕगॊ?

QFOFVSBUF

QFOFUSBUG

QFOFUSBUF

QFMFUSBUF

Correct Answer :­QFOFUSBUF 

3)

Question Stimulus :­

Divide 960 into 2 parts such that one exceeds the other by 26. / 960 कख़ 2 भॊगख़ ॠ म雀� इऺ तरऻ
ऺॕ ोशभॊोजत कर雀�  ोक एक, दॐ ऺरॕ ऺॕ 26 甉ॊदॊ ऻख़।

467, 493

534, 426

474, 486

NoŶe of the aďoǀe / उपयॏ�촉 म雀� ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­467, 493 

4)

Question Stimulus :­

The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: / नॎचॕ दॎ
गई ៦॑�ॠखलॊ म雀� अ埠�रख़ ॠ और  ॠऺ꜊ॊओॠ कॊ 㼇म उप瘂थत ऻॖ। गलत  ॠऺयख़जन पऻचॊोनयॕ:

i. lk45ljije5ty   ii. lk45ljije5tjy     iii. lk45ljije5ty       iv. lk45ljije5ty

i

ii

iii

iv

Correct Answer :­ii 

5)

Question Stimulus :­

Average of 2, 4, 6, 8, and 10 is / 2, 4, 6, 8, और 10 कॊ औऺत ऻख़गॊ

6



8

4

None of the above / उपयॏ�촉 म雀� ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­6 

6)

Question Stimulus :­

In the word ‘ACCOMPLISHMENT’ each letter is replaced by the letter preceding the letter in the alphabet series.
What will be the 10th alphabet in the changed word? /  ‘ACCOMPLISHMENT’ ष༈ म雀� ᨅॕक अ埠�र कख़ अ埠�र ៦॑�ॠखलॊ
म雀� उऺकॕ पॐश�शत戂 अ埠�र ऺॕ ᨅोतथॊोपत कर ोदयॊ गयॊ। प瘂रशोत�त ष༈ म雀� 10शॊँ अ埠�र ܊ॊ ऻख़गॊ?

I

R

G

J

Correct Answer :­G 

7)

Question Stimulus :­

The following question is based on an encryption system in which ोन꤅ ᨅ៦� एक ऐऺॎ एॠ ो㼇षन ᨅणॊलॎ पर आधॊ瘂रत ऻॖ
ोजऺम雀�

You are good is coded as Lu Le La / You are good कख़ Lu Le La ऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ
They are players is coded as Le Ne Me / They are players कख़  Le Ne Me ऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ
He is good is coded as La Si Su / He is good कख़ La Si Su ऺॕ कख़ोडत ोकयॊ जॊतॊ ऻॖ

What is the code word for are? / are कॕ ोलयॕ ܊ॊ कख़ड­ष༈ ऻॖ?

Le 

Lu

La

Ne

Correct Answer :­Le  

8)

Question Stimulus :­

2



0

1

3

Correct Answer :­1 

9)

Question Stimulus :­

The series given below contains a sequence of numbers. Identify the
incorrect combination: / नॎचॕ दॎ गई ៦॑�ॠखलॊ म雀�  ॠऺ꜊ॊओॠ कॊ 㼇म उप瘂थत ऻॖ। गलत  ॠऺयख़जन पऻचॊोनयॕ:
325, 259, 202, 160, 127, 105, 94

94

127

202

259

Correct Answer :­202 

10)

Question Stimulus :­

If TANGENT is coded NATGTNE, then how is MUSTARD coded? / योद TANGENT कख़ NATGTNE
कख़ोडत ोकयॊ जॊतॊ ऻॖ, तख़ MUSTARD कख़ कॖऺॕ कख़ोडत ोकयॊ जॊयॕगॊ?

MUSTDRA

DRATMUS

SUMTPRA

SUMTDRA

Correct Answer :­SUMTDRA 

11)

Question Stimulus :­

Find the odd one out: / एक ोशहम 쀅ॊत कॎोजए: 

Bicycle / ऺॊइोकल

Car / गॊीॎ

Truck / ट휀� क

Bus / बऺ

Correct Answer :­Bicycle / ऺॊइोकल 



12)

Question Stimulus :­

Correct Answer :­  

13)

Question Stimulus :­



The average age of a family of five was 32. It fell to 18 when the grandmother died. How old was she? / पॊँच लख़गख़ ॠ
शॊलॕ प瘂रशॊर कॎ औऺत आयॏ 32 थॎ। दॊदॎजॎ कॕ मरनॕ पर, औऺत आयॏ ोगरकर 18 ऻख़ गई। शऻ ोकतनॕ ऺॊल कॎ थॎ? 

98

72

88

102

Correct Answer :­88 

14)

Question Stimulus :­

Complete the series choosing the missing number: / लॏ⤈  ॠऺ꜊ॊ चॏनकर ៦॑�ॠखलॊ कख़ पॐरॊ
कॎोजए: 

3, 7, 15, 31, ______

60

65

64

63

Correct Answer :­63 

15)

Question Stimulus :­

 (7 x 4) + (2 x 12)­((24/8) + (121/11) x 2) = ?

27

32

30

11

Correct Answer :­27 

16)

Question Stimulus :­

Six friends are seated around a circular table. It is known that L is seated between P and N; Q is seated to the right
of O; and M is seated between N and O. Find the friend who is seated between L and Q. / छऻ: दख़⌉ एक श॑ॎय मॕि
कॕ ोगद�  बॖठॕ ऻ�। यऻ 쀅ॊत ऻॖ ोक  L, P और N कॕ बॎच म雀� बॖठॊ ऻॖ; Q, O कॎ दॊयॎ ॠ ओर बॖठॊ ऻॖ; और M, N और O कॕ बॎच म雀� बॖठॊ
ऻॖ। शऻ दख़⌉ 쀅ॊत कॎोजयॕ जख़ L और Q कॕ बॎच म雀� बॖठॊ ऻॖ।

M

N



O

P

Correct Answer :­P 

17)

Question Stimulus :­

If the fifth day of a month is Saturday, then which of the following will be the fourth day from 26th of
the month? / योद मऻॎनॕ कॊ पॊँचशॊॠ ोदन षोनशॊर ऻॖ, तख़ ोन꤅ म雀� ऺॕ मऻॎनॕ कॕ 26श雀� ोदन ऺॕ चग़थॊ ोदन कग़न ऺॊ
ऻख़गॊ?

Monday / ऺख़मशॊर

Tuesday / मॠगलशॊर

Wednesday / बॏधशॊर

Thursday / गॏ䐈शॊर

Correct Answer :­Wednesday / बॏधशॊर 

18)

Question Stimulus :­



Correct Answer :­  

19)

Question Stimulus :­

If the diagonals of two squares are in the ratio 1 : 5, then what is the ratio of their
areas? / योद दख़ शग흝� कॕ ोशकण� कॊ अनॏपॊत, ϭ : ϱ ऻॖ, तख़ उनकॕ 埠ॕ��फलख़ ॠ कॊ अनॏपॊत ܊ॊ ऻख़गॊ?

1 : 5

1 : 10

1 : 25

5 : 1

Correct Answer :­1 : 25 

20)

Question Stimulus :­

(720/6) + (39/3) ­ (16 x 5) ­ 45/15 x 7 = ?

35

32

41

38

Correct Answer :­32 

21)

Question Stimulus :­



A, B, and C can do a work in 24, 16 and 12 days respectively. How many days will it
take them to complete the work, if the three of them decide to work together? / A, B,
और C, 㼇मष: 24, 16 और 12 ोदनख़ ॠ म雀� कॊय� कख़ पॐरॊ कर ऺकतॕ ऻ�। योद शॕ ऺॊथ म雀� कॊम करनॕ कॊ ोनण�य लॕतॕ ऻ�, तख़ उ谇雀�
कॊय� पॐरॊ करनॕ म雀� ोकतनॕ ोदन लग雀�गॕ?

 days /   ोदन

 /   ोदन

 /   ोदन

 /   ोदन

Correct Answer :­  /   ोदन 

22)

Question Stimulus :­

Complete the series choosing the missing letter/s: : / लॏ⤈ अ埠�र चॏनकर ៦॑�ॠखलॊ कख़ पॐरॊ
कॎोजए: 

aab__a__bb__a

a, b, a

b, a, a

b, a, b

a, b, b

Correct Answer :­b, a, a 

23)

Question Stimulus :­

The least square number divisible by 5, 6, and 10 is / ϱ, ϲ, और ϭϬ ऺॕ ोशभॊ甉, ഈॐनतम शग�  ॠऺ꜊ॊ
ऻॖ

300

600

900

1600

Correct Answer :­900 



24)

Question Stimulus :­

Two friends, A and B cover a distance of 100 km at a speed of 25 kmph and 40 kmph respectively. What is the
difference between the times taken by them, if they start at the same time? / दख़ दख़⌉, A और B, 100 ोकमॎ कॎ दॐ रॎ कख़
㼇मष: 25 ोकमॎ ᨅोत घⰉॊ और 40 ोकमॎ ᨅोत घⰉॊ कॎ चॊल पर तय करतॕ ऻ�। उनकॕ ህॊरॊ ोलयॕ गयॕ ऺमय कॕ बॎच कॊ अॠतर
?�ॊ ऻख़गॊ, योद शॕ एक ऻॎ ऺमय पर चलनॊ षॏ䐈 करतॕ ऻ܊

4 hrs / 4 घॠटॕ

2.5 hrs / 2.5 घॠटॕ

1.5 hrs / 1.5 घॠटॕ

None of the above / उपयॏ�촉 म雀� ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­1.5 hrs / 1.5 घॠटॕ 

25)

Question Stimulus :­

Sunil started a business investing Rs. 5,000. After three months, Anil joined him with
a capital of Rs. 8,000. At the end of the year, they made a profit of Rs. 7,700. What
should Anil's share be in it? /  ॏऺनॎल नॕ 5,ϬϬϬ 䐈 ोनशॕष कर एक 䰈शऺॊय षॏ䐈 ोकयॊ। तॎन मऻॎनख़ ॠ कॕ बॊद,
8,000䐈 कॎ पॐॠजॎ कॕ ऺॊथ अोनल उऺकॕ ऺॊथ षॊोमल ऻख़ गयॊ। शह� कॕ अॠत म雀�, उ谇雀� 7,700䐈 कॊ लॊभ ᄅआ। उऺम雀� अोनल
कॊ भॊग ܊ॊ ऻख़नॊ चॊोऻए?

Rs. 3,500 / 3500 䐈पए  

Rs. 3,300 / 3300 䐈पए

Rs. 4,200 / 4200 䐈पए

Rs. 4,400 / 4400 䐈पए

Correct Answer :­Rs. 4,200 / 4200 䐈पए 

Topic:­ General Management
1)

Question Stimulus :­

Shop floor workers are associated with which of the following?  /षॗप ᄋख़र कॊय�कतॊ�, ोन꤅ोल瘂खत म雀� ऺॕ ोकऺ कॕ
ऺॊथ जॏीॕ रऻतॕ ऻ�?

Top management / षॎह� ᨅबॠधन

Middle level / मퟧ� ⌉र

Low level / ोन꤅ ⌉र

Team leaders / दल कॕ नॕतॊ

Correct Answer :­Low level / ोन꤅ ⌉र 

2)



Question Stimulus :­

Which of the following is NOT a source of working capital? / ोन꤅ोल瘂खत म雀� ऺॕ कग़न कॊय�षॎल पॐँजॎ कॊ 섆ख़त
नऻॎ ॠ ऻॖ?

Commercial paper / शॊोण瘂甉क प�

Bank over draft / ब�क ओशरड휀� ॊ︉

Discounting of bills / ोबलख़ ॠ कॎ भॏनॊई

Unsecured term loans / अ ॏऺरो埠�त आशोधक ऋण

Correct Answer :­Unsecured term loans / अ ॏऺरो埠�त आशोधक ऋण 

3)

Question Stimulus :­

The time gap between the payment for raw material purchases and collection of cash from sales is
referred as the________ / क䰈ॕ मॊल कॎ खरॎद कॕ ोलए भॏगतॊन और ोब㼇ॎ ऺॕ नकदॎ कॎ श ॐऺलॎ कॕ बॎच कॕ ऺमय
अॠतरॊल कख़ _________  जॊनॊ जॊतॊ ऻॖ।

Cash Cycle / नकद च㼇

Operating Cycle for the Company / कॠ पनॎ कॕ ोलए  ॠऺचॊलन च㼇

Both a and b / दख़नख़ ॠ a और b

None of the above / इनम雀� ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Cash Cycle / नकद च㼇 

4)

Question Stimulus :­

Which of the following functions in an organization enhances the skills and capabilities of employees?  / एक  ॠऺगठन
म雀� ोन꤅ म雀� ऺॕ कग़न ऺॊ कॊय�, कम�चॊ瘂रयख़ ॠ कॕ कग़षल और 埠�मतॊओॠ कख़ बुॊतॊ ऻॖ? 

Placement / थॊनन

Training / ᨅोष埠�ण

Induction / ᨅशॕषन

Development  / ोशकॊऺ

Correct Answer :­Training / ᨅोष埠�ण 

5)

Question Stimulus :­

Which of the following steps is necessary in the HRP (Human Resources Planning) process every year to
incorporate changes in it to make it more useful?  / एच.आर.पॎ (मॊनश  ॠऺऺॊधन यख़जनॊ) ᨅो㼇यॊ म雀� ᨅॕक शह� ोन꤅ म雀� ऺॕ
कग़न ऺॕ चरण आश쨉क ऻ� जख़ उऺम雀� प瘂रशत�न कख़ षॊोमल कर उऺॕ अोधक उपयख़गॎ बनॊतॕ ऻ�?



Setting aside funds / अलग धन कॎ थॊपनॊ

Training / ᨅोष埠�ण

Ensuring business objectives / 䰈ॊपॊर कॕ ल埛�ख़ॠ कख़  ॏऺ ोनो埯�त करनॊ

Reviewing process / ᨅो㼇यॊ कॎ ऺमॎ埠�ॊ करनॊ

Correct Answer :­Reviewing process / ᨅो㼇यॊ कॎ ऺमॎ埠�ॊ करनॊ 

6)

Question Stimulus :­

_________ is a teŶdeŶĐǇ to judge people ďased oŶ the perĐep�oŶ of the group to ǁhiĐh he ďeloŶgs. / _________
लख़गख़ ॠ कख़ आॠकनॕ कॎ ᨅश॑瘂戂 त ऻॖ जख़ ोक उऺ ऺमॐऻ कॕ अशगम पर आधॊ瘂रत ऻॖ, ोजऺऺॕ शॕ  ॠऺबॠोधत ऻख़तॕ ऻ�।

StereotǇpiŶg / �ॎ瘂रयख़टॊइोपॠग ;䐈ोुब蔇तॊ)

Halo effeĐt / प瘂रशॕष ᨅभॊश

ProjeĐ�oŶ / ᨅ埠ॕ�पण

SeleĐ�oŶ perĐep�oŶ / चयन अनॏभॐोत

Correct Answer :­StereotǇpiŶg / �ॎ瘂रयख़टॊइोपॠग ;䐈ोुब蔇तॊ) 

7)

Question Stimulus :­

Which theory believed that leaders share some inborn personality traits? / कग़न ऺॕ ोऺ蔇ॊॠत म雀� मॊनॊ जॊतॊ ऻॖ ोक
नॕतॊओॠ म雀� कॏ छ ऺऻज (अॠतजॊ�त) 䰈瘂촉딇 ल埠�ण ऻख़तॕ ऻ�?

Trait Theory of leadership / नॕत॑딇 कॊ ोशषॕहक ोऺ蔇ॊॠत

Behavioral Theory of leadership / नॕत॑딇 कॊ 䰈शऻॊर ोऺ蔇ॊॠत

Situational Theory of leadership / नॕत॑딇 कॊ 瘂थोतजഈ ोऺ蔇ॊॠत

None of the above /  उपयॏ�촉 म雀� ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Trait Theory of leadership / नॕत॑딇 कॊ ोशषॕहक ोऺ蔇ॊॠत 

8)

Question Stimulus :­

The practices and policies of governments refers to / ऺरकॊर कॎ नॎोतयॊॠ और कॊय�, इऺॕ  ॠऺदोभ�त करतॎ ऻ�

Economic Environment / आोथ�क पयॊ�शरण

Physical Environment / भग़ोतक पयॊ�शरण

Marketing Environment / ोशपणन पयॊ�शरण

Cultural Environment / ऺॊॠㄋ॑ोतक शॊतॊशरण



Correct Answer :­Economic Environment / आोथ�क पयॊ�शरण 

9)

Question Stimulus :­

Which of the following is used to measure and correct activities of subordinates to ensure that events conform
to plans. / ोन꤅ म雀� ऺॕ ोकऺकॊ ᨅयख़ग, अधॎनथख़ ॠ कॎ गोतोशोधयख़ ॠ कख़ मॊपनॕ और ऺऻॎ करनॕ कॕ ोलए ोकयॊ जॊतॊ ऻॖ
ोजऺऺॕ यऻ  ॏऺ ोनो埯�त ऻख़ ऺकॕ ोक कॊय�㼇म, यख़जनॊओॠ कॕ अनॏ䐈प ऻ�।

Controlling / ोनयॠ�ण

CoŵŵaŶdiŶg / ᨅभॊशषॎलतॊ

OrgaŶisiŶg / आयख़जन

PlaŶŶiŶg / यख़जनॊ

Correct Answer :­Controlling / ोनयॠ�ण 

10)

Question Stimulus :­

__________ refers to number of subordinates a superior can manage effectively / _________ अधॎनथ
कम�चॊ瘂रयख़ ॠ कॎ  ॠऺ꜊ॊ कख़  ॠऺदोभ�त करतॎ ऻॖ ,ोजऺकॊ ᨅबॠधन ᨅभॊशॎ  ॠुग ऺॕ श瘂र  ठ कर ऺकतॊ ऻॖ।  

Span of control / ोनयॠ�ण ोश⌉॑ोत

Unity of direction /  ोनद雀�षन एकलॊ

Unity of control / ोनयॠ�ण एकलॊ

Order / 㼇म

Correct Answer :­Span of control / ोनयॠ�ण ोश⌉॑ोत 

11)

Question Stimulus :­

Purchase of a machinery is an example for / एक मषॎनरॎ कॎ खरॎददॊरॎ, इऺकॊ एक उदॊऻरण ऻॖ ­

revenue expenditure / रॊजउ 䰈य

capital expenditure / पॐँजॎ 䰈य

current expenditure / चॊलॐ 䰈य

none of the above / उपयॏ�촉 कख़ई नऻॎ ॠ

Correct Answer :­capital expenditure / पॐँजॎ 䰈य 

12)

Question Stimulus :­



Operating leverage measures the effect of change in __________ and operating capacity on EBIT. /
प瘂रचॊलन ᨅभॊशन _______________   म雀� प瘂रशत�न कॕ कॊरण कख़ मॊपतॊ ऻॖ और EBIT पर 埠�मतॊ कॊ  ॠऺचॊलन करतॊ ऻॖ।

Debt capital / ऋण पॐँजॎ

Operating Profit / प瘂रचॊलन लॊभ

Sales Quantity / ोश㼇य प瘂रमॊण

Revenue / रॊजउ

Correct Answer :­Sales Quantity / ोश㼇य प瘂रमॊण 

13)

Question Stimulus :­

The process of recording, classifying and summarizing the transactions is called / लॕनदॕन कॕ अोभलॕखन,
शग戂करण एशॠ  ॠऺ ो埠�⤈ॎकरण कॎ ᨅो㼇यॊ कख़ ܊ॊ कऻॊ जॊतॊ ऻॖ ?

Book keeping. / बऻॎखॊतॊ लॕखन

Financial Accounting. / ोश戂 तॎय लॕखॊॠकन

Financial statements. /  ोशॎय ोशशरण

Preparation of income statement. / आय ोशशरण कॎ तॖयॊरॎ

Correct Answer :­Book keeping. / बऻॎखॊतॊ लॕखन 

14)

Question Stimulus :­

The practice of omitting paise and then rounding off the figures in the  financial statement is based on
______  / एक ोशॎय ोशशरण म雀� पॖऺॕ छख़ीनॊ और ोफर आॠकीख़ ॠ कॊ  ोनकटन करनॊ, _______________    पर आधॊ瘂रत ऻख़तॊ
ऻॖ।

Materiality concept / मॊ䬅ॊ अशधॊरणॊ

Duality concept / ህॠህ अशधॊरणॊ

Realization concept / बख़ध अशधॊरणॊ

Cost Concept / लॊगत अशधॊरणॊ

Correct Answer :­Materiality concept / मॊ䬅ॊ अशधॊरणॊ 

15)

Question Stimulus :­

Which of the below given statements are True(T) or False(F): / ोन꤅ोल瘂खत कथनख़ ॠ म雀� ऺॕ कग़न ऺॊ ऺऻॎ (T)  और कग़न ऺॊ
गलत (F) ऻॖ?

A. Distributive Justice: refers to perceived fairness of the amount and allocation of rewards among individuals /
ोशतरणॊᰈक ഈॊय : 䰈瘂촉यख़ॠ कॕ बॎच रॊोष कॎ ᨅ戂 य埠�ॎक॑त ोन  प埠�तॊ और पॏर कॊरख़ ॠ कॊ आशॠटन करनॕ ऺॕ ऺदॠोभ�त



B. Procedural Justice: refers to perceived fairness of the process used to determine the perception of individuals /
ᨅो㼇यॊᰈक ഈॊय : 䰈瘂촉यख़ॠ कॎ धॊरणॊ कख़ ोनधॊ�रण करनॕ कॕ ोलए  ᨅयॏ촉 ᨅो㼇यॊ कॎ ᨅ埠�ॎक॑त ोन埠�तॊ ऺॕ  ॠऺदोभ�त

A‐T: B‐T

A‐F:B‐T

A‐F:B‐F

A‐T:B‐F

Correct Answer :­A‐T:B‐F 

16)

Question Stimulus :­

Which of the following events can be forecasted with the help of HRP? / ोन꤅ोल瘂खत म雀� ऺॕ कग़न ऺॎ घटनॊ कॊ
पॐशॊ�नॏमॊन, एच.आर.पॎ कॎ ऺऻॊयतॊ ऺॕ लगॊयॊ जॊ ऺकतॊ ऻॖ?

Function of the organization /  ॠऺगठन कॕ कॊय�

Job description /  कॊय� ोशशरण

Attrition rate / 埠�यण दर

Deciding goals / ल埛� कख़ तय करनॊ

Correct Answer :­Attrition rate / 埠�यण दर 

17)

Question Stimulus :­

Bank overdraft as per cash book is a _____________. / रख़की बऻॎ कॕ अनॏऺॊर ब�क ओशरड휀� ॊ︉ एक _____________
ऻॖ।

Debit balance / डॕोबट षॕह

Credit balance / जमॊ षॕह

Cash balance / नकदॎ षॕह

Favourable balance / अनॏकॐ ल षॕह

Correct Answer :­Credit balance / जमॊ षॕह 

18)

Question Stimulus :­

WhiĐh of the ďeloǁ giǀeŶ people are foĐused oŶ the suďjeĐ�ǀe, iŶŶer ǁorld of thoughts, feeliŶgs aŶd ideas? / नॎचॕ
ोदए गए लख़गख़ ॠ म雀� ऺॕ कग़न लख़ग, 䰈瘂촉ोनစतॊ, ोशचॊरख़ ॠ कॎ भॎतरॎ दॏोनयॊ, भॊशनॊओॠ एशॠ ोशचॊरख़ ॠ पर कॕ瘂त रऻतॕ ऻ�?

Eǆtroǀerts / बोऻमॏ�खॎ

IŶtroǀerts / अĈमॏ�खॎ



Both a aŶd ď / दख़नख़ ॠ a और ď

NoŶe of the aďoǀe / उपरख़촉 म雀� ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­IŶtroǀerts / अĈमॏ�खॎ 

19)

Question Stimulus :­

Which of these skills are more important for a worker at the shop floor level?/ इनम雀� ऺॕ कग़न ऺॊ कग़षल दॏकॊन
कॕ भॐोमतल ⌉र पर एक कॊय�कतॊ� कॕ ोलए अोधक मऻ딇पॐण� ऻ�?

Conceptual skills / शॖचॊ瘂रक कग़षल

Human Skills / मॊनश कग़षल

Design Skills / ोडजॊइन कग़षल

Technical Skills / तकनॎकॎ कग़षल

Correct Answer :­Technical Skills / तकनॎकॎ कग़षल 

20)

Question Stimulus :­

The market price of a share of common stock is determined by:________ / ऺॊमॊഈ �ॗक कॕ एक षॕयर कॊ
बॊिॊर मॐ䴉, ________ ህॊरॊ ोनधॊ�瘂रत ोकयॊ जॊतॊ ऻॖ।

the board of directors of the firm / ᨅोतစॊन कॕ ोनदॕषक मॠडल

the stock exchange on which the stock is listed; / षॕयर बॊजॊर, ोजऺ पर षॕयर  ॐऺचॎब蔇 ऻॖ;

the president of the company. / कॠ पनॎ कॕ अퟧ�埠�

individuals buying and selling the stock / षॕयर खरॎदनॕ और बॕचनॕ शॊलॕ 䰈瘂촉यख़ॠ

Correct Answer :­individuals buying and selling the stock / षॕयर खरॎदनॕ और बॕचनॕ शॊलॕ 䰈瘂촉यख़ॠ 

21)

Question Stimulus :­

 The verbal part of a brand. The part that can be spoken or written is known as / एक 䐅ॊॠड कॊ मग़瘂खक ोऻ∊ॊ ऻॖ। शऻ
भॊग, ोजऺॕ बख़लॊ यॊ ोलखॊ जॊ ऺकतॊ ऻॖ, ___________कॕ नॊम ऺॕ जॊनॊ जॊतॊ ऻॖ।

Brand name / 䐅ॊॠड नॊम

Brand mark / 䐅ॊॠड ोनषॊन

Logo / लख़गख़

Patent / पॕटॕ� ट

Correct Answer :­Brand name / 䐅ॊॠड नॊम 

22)



Question Stimulus :­

___________  coordinates a complex set of activities to accomplish important non­recurring  goals / 
___________,  मऻ딇पॐण� अनॊशत戂 ल埛�ख़ॠ कख़ पॐरॊ करनॕ कॕ ोलए गोतोशोधयख़ ॠ कॕ एक जोटल ऺॕट कॊ ऺमॊयख़जन करतॊ ऻॖ।

Programs / कॊय�㼇मख़ ॠ

Budgets / बजट

Process / ᨅ㼇म

Rules / ोनयम

Correct Answer :­Programs / कॊय�㼇मख़ ॠ 

23)

Question Stimulus :­

Profits , sundry credit, sundry debt and the like can be measured through / लॊभ, ोशोशध लॕनदॊर, ोशोशध दॕनदॊर
और इनकॕ ऺमॊन 䐈प, _________ कॕ मॊퟧ�म ऺॕ मॊोपत ोकए जॊ ऺकतॕ ऻ�।

Financial Control system / ोशॎय ोनयॠ�ण ᨅणॊलॎ

Inventory control system /  ॐऺचॎ ोनयॠ�ण ᨅणॊलॎ

Budgetary Control system / बजटॎय ोनयॠ�ण ᨅणॊलॎ

Quality Control system / गॏणशॊ ोनयॠ�ण ᨅणॊलॎ

Correct Answer :­Financial Control system / ोशॎय ोनयॠ�ण ᨅणॊलॎ 

24)

Question Stimulus :­

Process of designing and maintaining environment in which individuals working in groups efficiently employ
resources is called ________. / शॊतॊशरण कॕ 䐈पॊॠकन और रखरखॊश कॎ ᨅो㼇यॊ, ोजऺम雀� ऺमॐऻख़ ॠ म雀� कॊय� कर रऻॕ  य瘂촉
कॏ षलतॊपॐश�क  ॠऺऺॊधनख़ ॠ कॊ ᨅयख़ग कर रऻॕ ऻख़तॕ ऻ�, __________ कऻलॊतॊ ऻॖ। 

Good working relationship / बॕऻतर कॊय�  ॠऺबॠध

Management / ᨅबॠधन

Individual System  / 䰈瘂촉गत ᨅणॊलॎ

Maintenance / रख‐रखॊश

Correct Answer :­Management / ᨅबॠधन 

25)

Question Stimulus :­

Capital invested by the owner is shown as a liability in the balance sheet due to ____________ in accounting. /
लॕखॊॠकन म雀� _______ कॎ शजऻ ऺॕ मॊोलक ህॊरॊ ोनशॕष कॎ गई पॐँजॎ कख़ बॖल雀�ऺ षॎट म雀� एक दॕनदॊरॎ कॕ 䐈प म雀� ोदखॊयॊ
गयॊ ऻॖ।



separate entity concept / प॑थक ऺ딇 अशधॊरणॊ

going concern concept /   ॏऺनॊम­ᨅोत  ठॊन अशधॊरणॊ

cost concept / लॊगत अशधॊरणॊ

money measurement concept / मॏህॊमॊपन अशधॊरणॊ

Correct Answer :­separate entity concept / प॑थक ऺ딇 अशधॊरणॊ 


